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[요지]

1)� 다음� 글의� 요지로�가장� 적절한�것은?

[Exercise� 1]

Let's� start� with� the� statement� "Humans� are�

causing� climate� change� by� burning� fossil�

fuels."� It� is� the� basis� upon� which� people� all�

over� the� world,� including� me,� are� calling� for�

the� rapid� end� to� fossil� fuel� use� and� the�

transition� to� carbon-emission-free� energy�

sources.� It's� a� pretty� bold� statement,� and� it� is�

very� different� from� saying� that� climate� is�

changing� —� what� scientists� call� "detection."� If�

we're� going� to� argue� for� a� massive� change� in�

human� society,� which� is� what� will� be� required�

to� end� our� use� of� fossil� fuels,� it� seems�

reasonable� to� ask� that� we� move� beyond�

detection.� After� all,� fossil� fuels,� despite� their�

problems,� have� provided� tremendous� benefits�

to� society� over� the� twentieth� century.� If� we�

(the� climate-concerned� public)� are� going� to�

insist� that� we� stop� using� fossil� fuels,� it� is�

incumbent� upon� us� to� prove� that� the�

downside� is� greater� than� the� very� real� upside�

that� fossil� fuels� have� offered.� We� need� to�

prove,� beyond� a� reasonable� doubt,� that�

climate� is� changing� and� that� human� use� of�

fossil� fuels,� not� something� else,� is� responsible�

for� the� climate� change� we� are� observing.� We�

need� attribution� in� addition� to� detection.

①� 화석�연료� 사용은�사회에�순기능만�제공한다.

②� 기후�변화의�증거는�과학적으로�입증될�수� 없다.

③� 인간이�화석� 연료를�사용함으로써�기후�변화가�

발생하고�있음을�명확히�입증해야�한다.

④� 기후�변화는�인간�활동과�무관한�자연� 현상이다.

⑤� 화석�연료� 사용은�사회적으로�전혀�유익하지�

않다.

2)�다음�글의�요지로�가장�적절한�것은?

[Exercise� 2]

The� grammatical� structure� is� a� 'social� fact'� in�

Durkheim's� sense� of� being� external� to� and�

constraining� for� individual� speakers.� It� is�

independent� of� their� subjective� preferences�

and� they� must� follow� the� rules� if� they� are� to�

be� understood.� However,� the� grammatical�

rules� of� gender,� agreement,� number,� subject�

and� object,� possessive,� and� so� on� are� not,� in�

general,� consciously� followed� and� applied� by�

the� individuals� who� speak� to� each� other.�

Speakers� typically� have� only� a� very� limited� and�

partial� awareness� of� the� rules� of� their� own�

grammar,� and� speaking� grammatically� is� a�

matter� of� unreflective� habit� rather� than�

conscious� rule� following.� The� grammatical�

rules� of� a� language,� then,� do� not� exist� apart�

from� the� minds� of� the� individual� speakers.�

They� may� be� formulated� in� a� book� of�

grammar,� but� such� a� book� records� the�

grammar� —� more� or� less� imperfectly� —� and�

does� not� comprise� the� grammar.� The� rules�

that� are� followed� in� forming� a� 'correct'�

utterance� and� a� well-organised� discourse� exist�

only� in� the� minds� of� the� individual� speakers� as�

learned� dispositions� held� in� the�

neurophysiological� memory� traces� of� their�

brains.

①� 문법� 규칙은�개인의�주관적�선호에�따라�

자유롭게�적용된다.

②�언어의�문법�규칙은�개인의�자각적인�노력으로만�

유지된다.

③�언어의�문법�규칙은�사회적�사실로서�개인의�

무의식적�습관에�의해�작동한다.

④�문법� 규칙은�책에� 기록된�규칙에�따라�엄격히�

따르는�것이�이상적이다.

⑤�언어의�구조는�개인의�창의적인�표현에서�

비롯된다.
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3)� 다음� 글의� 요지로�가장� 적절한�것은?

[Exercise� 3]

When� environment� involves� human� interests,� it�

must� necessarily� be� understood� in� relation� to�

humans� and� not� as� an� array� of� independent�

objects.� We� can� find� support� for� this� in� the�

work� of� social� psychologists� such� as� Kurt�

Lewin� and� J.� J.� Gibson.� Lewin� envisioned� a�

social� world� comprised� of� vectors� of� force�

between� participants� and� the� things� and�

conditions� with� which� they� interact.

These� vectors� invite� particular� behaviors,� and�

this� led� Lewin� to� call� them� by� the� German�

term� Affördungsqualitäten,� translated� into�
English� as� "invitational� qualities."� More�

recently,� the� perceptual� psychologist� J.� J.�

Gibson� studied� the� ways� in� which� the� design�

and� appearance� of� environmental�

configurations� and� objects� encourage�

particular� responses� in� human� behavior.� He�

called� these� connections� "affordances"� for�

behavior,� clearly� influenced� by� Lewin's�

terminology� and� resembling� his� observations.�

The� work� of� Lewin� and� Gibson� is� important�

and� instructive� for� it� suggests� that�

environment� is� not� just� open� space� filled� with�

arrangements� of� independent� objects� but�

rather� is� a� field� of� forces� in� compelling�

relationships� of� attraction,� repulsion,� and�

neutrality� or� indifference.� Environment� is,� then,�

a� field� that� includes� the� human� participant.

①� 인간은�환경과�독립적으로�존재할�수�있다.

②� 인간의�존재는�환경과�무관하게�유지될�수� 있다.

③� 인간과�환경은�상호작용하며,� 환경은�인간과의�

관계�속에서�의미를�가진다.

④� 환경은�인간의�영향에서�자유로운�독립된�

요소이다.

⑤� 인간은�환경과의�관계를�고려하지�않고도�행동할�

수� 있다.

4)� 다음� 글의�요지로�가장�적절한�것은?�

[Exercise� 4]

As� many� journalism� scholars� have� argued,�

print-era� journalists� rejected� audience� research�

because� doing� so� was� one� of� the� only� means�

to� protect� their� always-tenuous� professional�

status.� Sociologist� Andrew� Abbott� has�

characterized� professions� as� "somewhat�

exclusive� groups� of� individuals� applying�

somewhat� abstract� knowledge� to� particular�

cases."� Although� it� is� commonly� categorized�

as� a� profession,� journalism� has� long� struggled�

to� comfortably� inhabit� this� definition.� Even�

before� the� rise� of� the� internet� helped� shift�

institutional� gatekeeping� power� away� from�

news� organizations� and� toward� technology�

platforms,� journalists� had� difficulty� establishing�

themselves� as� a� "somewhat� exclusive� group� of�

individuals."� Indeed,� while� paradigmatic�

professions� such� as� medicine� and� law� rely� on�

strict� licensing� requirements� to� limit� entry� into�

the� profession,� the� First� Amendment� prohibits�

U.S.� journalism� from� establishing� any� such�

thing.� Nor� can� journalists� lay� a� strong� claim� to�

jurisdiction� over� a� form� of� abstract� knowledge.�

As� journalism� scholar� Matt� Carlson� has�

argued,� "abstraction� makes� for� bad� journalism.�

Clarity,� especially� in� the� explanation� of�

complex� topics,� makes� for� good� journalism."�

The� accessibility� of� journalistic� language� is�

helpful� for� informing� the� public,� but� it� also�

renders� journalists'� claims� to� specialized�

expertise� potentially� suspect.

①� 언론인은�명확한�전문적�기준에�따라� 활동한다.

②�저널리즘은�독립적인�직업적�지위를�확립하는�데�

어려움을�겪고�있다.

③�언론의�자유는�저널리즘의�전문성을�강화한다.

④�인터넷의�발전은�저널리즘의�독립성을�

강화시켰다.

⑤�저널리즘은�복잡한�지식보다는�추상적인�개념을�

중시한다.
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5)� 다음� 글의� 요지로�가장� 적절한�것은?

[Exercise� 5]

Management,� especially� of� anything� as�

complex� as� a� transportation� system,� is� very�

difficult.� There� are� often� many� different�

organizations� involved,� each� of� which� has�

multiple� divisions,� with� multiple� levels� of�

authority,� and� often� many� lengthy,� written�

procedure� manuals.� To� make� matters� worse,�

the� manuals� are� seldom� kept� up� to� date� and,�

in� any� event,� cannot� possibly� consider� every�

combination� of� factors� that� might� occur.�

During� the� incident,� the� people� responsible� for�

maintaining� control� (the� pilots,� in� most�

commercial� aviation� incidents)� waste� valuable�

time� poring� through� the� different� manuals,�

trying� to� find� the� relevant� case.� Modern�

computer� systems� attempt� to� help� by�

automatically� diagnosing� the� situation� and�

either� responding� autonomously� or� offering�

operators� the� instructions� to� be� followed,� but�

the� diagnosis� or� recommended� course� of�

actions� is� not� always� appropriate� (because� in�

each� complex� system,� most� accidents� involve�

different� unique� factors).� Different�

organizations� might� be� involved:� police� and�

firefighters,� company� safety� representatives,�

multiple� teams� from� different� divisions� of� a�

company,� and� different� companies� or�

government� and� regulatory� agencies� who�

must� coordinate� their� decisions� and� actions.� It�

is� rare� that� the� result� is� smooth,� flawless�

management.

①� 주요�사고의�원인은�설계� 결함이나�유지�보수�

실패로�한정된다.

②� 현대�기술� 시스템은�모든�사고를�완벽히�예방할�

수� 있다.

③� 복잡한�시스템에서는�관리�실패가�주요� 사고의�

공통된�원인이다.

④� 사고�대응� 매뉴얼은�모든�상황에�적용될�수�

있다.

⑤� 사고�발생� 시� 각� 기관은�독립적으로�대응해야�

한다.

6)� 다음� 글의�요지로�가장�적절한�것은?

[Exercise� 6]

Age� is� not� the� only� determinant� of� spatial�

skills.� While� thirteen-year-old� children� have� all�

the� cognitive� attributes� they� need� to� be�

proficient� at� wayfinding,� some� are� better� at� it�

than� others.� By� this� point,� parental� attitudes,�

freedom� of� movement,� cognitive� differences�

and� life� experience� have� already� begun� to�

leave� their� imprint,� and� they� never� ease� off�

All� of� us� may� be� explorers� when� we're� born,�

but� few� of� us� stay� that� way.� We� end� up�

suppressing� our� childish� natures,� slipping� into�

routines� and� following� the� routes� we� always�

take.� A� recent� study� by� Canadian� psychologists�

found� that� 84� per� cent� of� eight-year-olds�

navigate� by� scrutinizing� their� surroundings� and�

building� a� mental� map,� a� so-called� 'spatial'�

strategy� that� is� also� used� by� almost� all�

competent� adult� navigators.� The� alternative� is�

a� more� closed,� 'egocentric'� strategy,� which�

entails� learning� and� following� a� sequence� of�

turns.� Only� 46� per� cent� of� us� still� use� the�

spatial� approach� in� our� twenties,� and� 39� per�

cent� in� our� sixties.� It� seems� that� we� all� start�

off� roaming� free,� but� most� of� us� end� up� on�

the� straight� and� narrow.� Life� has� a� way� of�

clipping� our� wings.

①� 나이가�들수록�공간적�탐색� 능력은�자연스럽게�

향상된다.

②�모든� 사람은�평생� 동안� 일정한�수준의�탐험가�

기질을�유지한다.

③�성장하면서�개인의�환경� 경험과�인지적�차이가�

공간적�탐색�능력에�영향을�미친다.

④�대부분의�사람들은�나이가�들수록�새로운�환경에�

더�잘�적응한다.

⑤�인간의�공간적�탐색� 능력은�유전적으로만�

결정된다.
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7)� 다음� 글의� 요지로�가장� 적절한�것은?

[Exercise� 7]

The� bird� songs� we� hear� every� day� are� more�

than� beautiful.� They� serve� a� practical� purpose.�

Birds� employ� their� voices� to� call� their� mates,�

find� their� flock,� claim� territory,� scare� off�

intruders,� warn� others� about� predators,� and�

for� countless� other� functions.� For� instance,�

Japanese� and� Swiss� researchers� recently�

discovered� that� Japanese� great� tits,� small� birds�

with� jet-black� heads� and� necks� with�

prominent� white� cheeks,� use� syntax� in� their�

songs,� just� as� humans� do� in� their� speech.�

Syntax� is� crucial� to� language.� For� example,� if�

you� say,� "I� love� that� restaurant,"� the� message�

is� clear.� But� not� even� Star� Wars'� Master� Yoda�

could� understand,� "Restaurant� love� that� I."�

Until� recently,� scientists� believed� that� only�

humans� could� string� together� such�

vocalizations.� The� Japanese� great� tit,� it� turns�

out,� is� the� first� animal� apart� from� humans�

who� can� use� phonological� syntax� —� the� ability�

to� combine� sounds� that� individually� have� no�

meaning� into� a� collective� sound� —� that� does.�

To� instruct� other� members� of� his� flock� to� scan�

for� predators,� or� to� attract� a� mate,� a� great� tit�

must� sing� several� distinct� notes� in� the� correct�

order� —� if� the� notes� are� sung� differently,� the�

study� found,� other� birds� will� not� react.

①� 새의�노래는�단순히�아름다움을�위한�것이다.

②� 인간만이�문법�구조를�활용한�언어적�표현이�

가능하다.

③� 일부�새들은�인간과�유사한�문법� 구조를�활용한�

의사소통이�가능하다.

④� 새들의�노래는�무작위로�만들어진다.

⑤� 새들은�소리의�순서를�바꿔도�같은� 의미를�

전달할�수� 있다.

8)� 다음� 글의�요지로�가장�적절한�것은?

[Exercise� 8]

When� an� organism� is� confronted� with� some�

sort� of� threat,� it� typically� becomes� vigilant,�

searches� to� gain� information� about� the� nature�

of� the� threat,� struggles� to� find� an� effective�

coping� response.� And� once� a� signal� indicates�

safety� —� the� lion� has� been� evaded,� the� traffic�

cop� buys� the� explanation� and� doesn't� issue� a�

ticket� —� the� organism� can� relax.� But� this� is�

not� what� occurs� in� an� anxious� individual.�

Instead,� there� is� a� frantic� skittering� among�

coping� responses� —� abruptly� shifting� from� one�

to� another� without� checking� whether� anything�

has� worked,� an� agitated� attempt� to� cover� all�

the� bases� and� attempt� a� variety� of� responses�

simultaneously.� Or� there� is� an� inability� to�

detect� when� the� safety� signal� occurs,� and� the�

restless� vigilance� keeps� going.� By� definition,�

anxiety� makes� little� sense� outside� the� context�

of� what� the� environment� is� doing� to� an�

individual.� In� that� framework,� the� brain�

chemicals� and,� ultimately,� the� genes� relevant�

to� anxiety� don't� make� you� anxious.� They�

make� you� more� responsive� to�

anxiety-provoking� situations,� make� it� harder� to�

detect� safety� signals� in� the� environment.

①� 불안은�모든�사람에게서�동일한�방식으로�

나타난다.

②�불안은�개인의�생물학적�요인에만�의해�

발생한다.

③�불안은�환경적�자극에�대한� 민감성을�높이며,�

안전� 신호를�인식하기�어렵게�만든다.

④�불안은�외부�자극과�무관하게�발생하는�내부�

문제이다.

⑤�불안은�환경과의�상호작용에서�발생하는�것이�

아니라�유전적으로�결정된다.
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9)� 다음� 글의� 요지로�가장� 적절한�것은?

[Exercise� 9]

Babies� use� statistical� learning� to� make�

predictions� about� the� world,� guiding� their�

actions.� Like� little� statisticians,� they� form�

hypotheses,� assess� probabilities� based� on� their�

knowledge,� integrate� new� evidence� from� the�

environment,� and� perform� tests.� In� one�

creative� study� by� the� developmental�

psychologist� Fei� Xu,� ten-� to�

fourteen-month-old� children� first� expressed� a�

preference� for� pink� or� black� lollipops,� then�

were� shown� two� candy� jars:� one� containing�

more� black� lollipops� than� pink,� and� one� with�

more� pink� than� black.� The� experimenter� then�

closed� her� eyes� and� drew� one� lollipop� from�

each� jar� so� infants� could� see� only� the� stick,�

not� the� color.� Each� lollipop� was� placed� into� a�

separate,� opaque� cup� with� only� the� stick�

showing.� Infants� crawled� to� the� cup� that� was�

statistically� more� likely� to� contain� their�

preferred� color,� because� it� came� from� a� jar�

where� that� color� was� in� the� majority.�

Experiments� like� this� demonstrate� that� infants�

are� not� merely� reactive� to� the� world.� Even�

from� a� very� young� age,� they� actively� estimate�

probabilities� based� on� patterns� that� they�

observe� and� learn,� to� maximize� the� outcomes�

they� desire.

①� 영아는�환경� 자극에�수동적으로�반응한다.

②� 영아는�확률� 개념을�이해하지�못한다.

③� 영아는�확률과�패턴을�학습해�행동을�예측하고�

결정한다.

④� 영아는�본능적으로�특정�색상을�선호한다.

⑤� 영아의�행동은�무작위적으로�결정된다.

10)� 다음� 글의�요지로�가장�적절한�것은?

[Exercise� 10]

David� Howes,� a� professor� of� anthropology,�

notes� the� frequent� association� in� different�

cultures� between� scents� and� rituals� of�

transition,� such� as� funerals� or� rites� of� passage.�

He� suggests� that� scent� is� felt� to� be�

symbolically� appropriate� for� moments� of� social�

transition� because� it� so� frequently�

accompanies� and� marks� other� types� of�

physical� transition,� as� when� cooking� smells�

signal� the� transformation� of� raw� ingredients�

into� food.� While� scents� tend� to� escape� spaces�

and� spread� out� of� human� control,� our�

experience� of� them� is� frequently� liminal,� as�

we� notice� scents� far� more� strongly� when� first�

entering� their� range.

You� smell� baking� bread� strongly� as� you� enter�

a� house,� but� after� a� few� minutes� inside,� you�

may� no� longer� be� able� to� smell� it� even� with�

deliberate� effort,� a� physical� process� known� as�

olfactory� adaptation� or� fatigue.� It� takes� an�

overwhelming� odor� to� retain� our� notice� after�

a� period� of� constant� exposure.

Smells� signal� transitions� through� space� as� well�

as� changes� of� state,� and� are� thus� used� to�

mark� socially� important� moments� of� change.

①� 냄새는�사람의�인지적�기억과�무관하다.

②�향기는�사회적�전환과�상징적으로�연결될�수�

있다.

③�냄새는�주로�부정적인�경험과�연관된다.

④�향기는�모든�문화에서�동일한�의미를�가진다.

⑤�냄새에�대한�인식은�시간이�지나도�변하지�

않는다.
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11)� 다음� 글의� 요지로�가장� 적절한�것은?

[Exercise� 11]

Variability� in� judgments� is� also� expected� and�

welcome� in� a� competitive� situation� in� which�

the� best� judgments� will� be� rewarded.� When�

several� companies� (or� several� teams� in� the�

same� organization)� compete� to� generate�

innovative� solutions� to� the� same� customer�

problem,� we� don't� want� them� to� focus� on�

the� same� approach.� The� same� is� true� when�

multiple� teams� of� researchers� attack� a�

scientific� problem,� such� as� the� development� of�

a� vaccine:� we� very� much� want� them� to� look�

at� it� from� different� angles.� Even� forecasters�

sometimes� behave� like� competitive� players.� The�

analyst� who� correctly� calls� a� recession� that� no�

one� else� has� anticipated� is� sure� to� gain� fame,�

whereas� the� one� who� never� strays� from� the�

consensus� remains� obscure.� In� such� settings,�

variability� in� ideas� and� judgments� is� again�

welcome,� because� variation� is� only� the� first�

step.� In� a� second� phase,� the� results� of� these�

judgments� will� be� pitted� against� one� another,�

and� the� best� will� triumph.� In� a� market� as� in�

nature,� selection� cannot� work� without�

variation.

①� 경쟁�상황에서�의견의�다양성은�방해�요소가�

된다.

②� 다양한�관점은�문제� 해결� 과정에서�불필요하다.

③� 경쟁적�환경에서는�다양한�판단이�창의적�

해결책을�촉진한다.

④�모든�문제�해결�과정은�동일한�접근�방식을�필요로�

한다.

⑤� 경쟁은�항상� 부정적인�결과를�초래한다.

12)� 다음� 글의�요지로�가장�적절한�것은?�

[Exercise� 12]

Intelligent� failures� begin� with� preparation.� No�

scientist� wants� to� waste� time� or� materials� on�

experiments� that� have� been� run� before� and�

failed.� Do� your� homework.� The� classic�

intelligent� failure� is� hypothesis� driven.� You've�

taken� the� time� to� think� through� what� might�

happen� —� why� you� have� reason� to� believe�

that� you� could� be� right� about� what� will�

happen.� My� Harvard� colleague� Thomas� "Tom"�

Eisenmann,� an� entrepreneurship� expert,� finds�

that� many� start-up� failures� are� caused� by� the�

skipping� of� basic� homework.� For� example,�

Triangulate,� an� online� dating� start-up,� rushed�

to� launch� fully� functional� offerings� that� didn't�

fit� any� market� needs.� Eager� to� launch� fast,�

founders� skipped� the� research� —� customer�

interviews� to� probe� for� unmet� needs.� Paying�

no� attentions� to� that� crucial� preparation,� the�

company� paid� the� price.� Tom� attributes� this�

common� failure,� in� part,� to� "the� 'fail� fast'�

mantra,"� which� overemphasizes� action,�

shortchanging� preparation.� Moreover,� while�

this� might� seem� self-evident,� once� you've�

done� the� homework,� you� must� heed� what� it's�

telling� you.

①� 실패는�준비�없이� 빠르게�행동하는�데서�

비롯된다.

②�모든� 실패는�불가피하며,� 대비할�수� 없다.

③�준비된�실패는�혁신과�발전의�기회를�제공할�수�

있다.

④�빠른� 실행이�항상� 성공적인�결과를�가져온다.

⑤�실패의�원인은�주로� 외부�환경에서�발생한다.
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[주제]

13)� 다음� 글의� 주제로�가장� 적절한�것은?�

[Exercise� 1]

Let's� start� with� the� statement� "Humans� are�

causing� climate� change� by� burning� fossil�

fuels."� It� is� the� basis� upon� which� people� all�

over� the� world,� including� me,� are� calling� for�

the� rapid� end� to� fossil� fuel� use� and� the�

transition� to� carbon-emission-free� energy�

sources.� It's� a� pretty� bold� statement,� and� it� is�

very� different� from� saying� that� climate� is�

changing� —� what� scientists� call� "detection."� If�

we're� going� to� argue� for� a� massive� change� in�

human� society,� which� is� what� will� be� required�

to� end� our� use� of� fossil� fuels,� it� seems�

reasonable� to� ask� that� we� move� beyond�

detection.� After� all,� fossil� fuels,� despite� their�

problems,� have� provided� tremendous� benefits�

to� society� over� the� twentieth� century.� If� we�

(the� climate-concerned� public)� are� going� to�

insist� that� we� stop� using� fossil� fuels,� it� is�

incumbent� upon� us� to� prove� that� the�

downside� is� greater� than� the� very� real� upside�

that� fossil� fuels� have� offered.� We� need� to�

prove,� beyond� a� reasonable� doubt,� that�

climate� is� changing� and� that� human� use� of�

fossil� fuels,� not� something� else,� is� responsible�

for� the� climate� change� we� are� observing.� We�

need� attribution� in� addition� to� detection.

①� The� benefits� of� fossil� fuel� use� for� modern�

society

②� The� scientific� challenges� in� detecting�

climate� change

③� The� importance� of� proving� human�

responsibility� for� climate� change

④� How� technological� innovation� can� reduce�

carbon� emissions

⑤� The� economic� impact� of� reducing� fossil� fuel�

consumption

14)� 다음� 글의�주제로�가장�적절한�것은?�

[Exercise� 2]

The� grammatical� structure� is� a� 'social� fact'� in�

Durkheim's� sense� of� being� external� to� and�

constraining� for� individual� speakers.� It� is�

independent� of� their� subjective� preferences�

and� they� must� follow� the� rules� if� they� are� to�

be� understood.� However,� the� grammatical�

rules� of� gender,� agreement,� number,� subject�

and� object,� possessive,� and� so� on� are� not,� in�

general,� consciously� followed� and� applied� by�

the� individuals� who� speak� to� each� other.�

Speakers� typically� have� only� a� very� limited� and�

partial� awareness� of� the� rules� of� their� own�

grammar,� and� speaking� grammatically� is� a�

matter� of� unreflective� habit� rather� than�

conscious� rule� following.� The� grammatical�

rules� of� a� language,� then,� do� not� exist� apart�

from� the� minds� of� the� individual� speakers.�

They� may� be� formulated� in� a� book� of�

grammar,� but� such� a� book� records� the�

grammar� —� more� or� less� imperfectly� —� and�

does� not� comprise� the� grammar.� The� rules�

that� are� followed� in� forming� a� 'correct'�

utterance� and� a� well-organised� discourse� exist�

only� in� the� minds� of� the� individual� speakers� as�

learned� dispositions� held� in� the�

neurophysiological� memory� traces� of� their�

brains.

①� How� unconscious� language� habits� shape�

communication

②� The� social� functions� of� grammatical�

structures

③� The� historical� development� of� modern�

grammar� rules

④�Why� formal� grammar� instruction� is�

necessary

⑤� The� relationship� between� language� and�

cultural� identity
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15)� 다음� 글의� 주제로�가장� 적절한�것은?�

[Exercise� 3]

When� environment� involves� human� interests,� it�

must� necessarily� be� understood� in� relation� to�

humans� and� not� as� an� array� of� independent�

objects.� We� can� find� support� for� this� in� the�

work� of� social� psychologists� such� as� Kurt�

Lewin� and� J.� J.� Gibson.� Lewin� envisioned� a�

social� world� comprised� of� vectors� of� force�

between� participants� and� the� things� and�

conditions� with� which� they� interact.

These� vectors� invite� particular� behaviors,� and�

this� led� Lewin� to� call� them� by� the� German�

term� Affördungsqualitäten,� translated� into�
English� as� "invitational� qualities."� More�

recently,� the� perceptual� psychologist� J.� J.�

Gibson� studied� the� ways� in� which� the� design�

and� appearance� of� environmental�

configurations� and� objects� encourage�

particular� responses� in� human� behavior.� He�

called� these� connections� "affordances"� for�

behavior,� clearly� influenced� by� Lewin's�

terminology� and� resembling� his� observations.�

The� work� of� Lewin� and� Gibson� is� important�

and� instructive� for� it� suggests� that�

environment� is� not� just� open� space� filled� with�

arrangements� of� independent� objects� but�

rather� is� a� field� of� forces� in� compelling�

relationships� of� attraction,� repulsion,� and�

neutrality� or� indifference.� Environment� is,� then,�

a� field� that� includes� the� human� participant.

①� The� influence� of� environment� on� human�

emotions

②� How� human� presence� shapes� the�

perception� of� the� environment

③� The� psychological� effects� of� living� in�

different� environments

④�Why� environmental� conservation� requires�

human� participation

⑤� The� impact� of� natural� disasters� on� human�

behavior

16)� 다음� 글의�주제로�가장�적절한�것은?�

[Exercise� 4]

As� many� journalism� scholars� have� argued,�

print-era� journalists� rejected� audience� research�

because� doing� so� was� one� of� the� only� means�

to� protect� their� always-tenuous� professional�

status.� Sociologist� Andrew� Abbott� has�

characterized� professions� as� "somewhat�

exclusive� groups� of� individuals� applying�

somewhat� abstract� knowledge� to� particular�

cases."� Although� it� is� commonly� categorized�

as� a� profession,� journalism� has� long� struggled�

to� comfortably� inhabit� this� definition.� Even�

before� the� rise� of� the� internet� helped� shift�

institutional� gatekeeping� power� away� from�

news� organizations� and� toward� technology�

platforms,� journalists� had� difficulty� establishing�

themselves� as� a� "somewhat� exclusive� group� of�

individuals."� Indeed,� while� paradigmatic�

professions� such� as� medicine� and� law� rely� on�

strict� licensing� requirements� to� limit� entry� into�

the� profession,� the� First� Amendment� prohibits�

U.S.� journalism� from� establishing� any� such�

thing.� Nor� can� journalists� lay� a� strong� claim� to�

jurisdiction� over� a� form� of� abstract� knowledge.�

As� journalism� scholar� Matt� Carlson� has�

argued,� "abstraction� makes� for� bad� journalism.�

Clarity,� especially� in� the� explanation� of�

complex� topics,� makes� for� good� journalism."�

The� accessibility� of� journalistic� language� is�

helpful� for� informing� the� public,� but� it� also�

renders� journalists'� claims� to� specialized�

expertise� potentially� suspect.

①� The� role� of� licensing� in� professional�

journalism

②� How� technological� platforms� have�

challenged� journalistic� authority

③� The� struggle� of� journalism� to� establish� itself�

as� a� true� profession

④�Why� abstract� knowledge� is� essential� for�

journalistic� integrity

⑤� The� impact� of� the� First� Amendment� on�

freedom� of� the� press
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17)� 다음� 글의� 주제로�가장� 적절한�것은?�

[Exercise� 5]

Management,� especially� of� anything� as�

complex� as� a� transportation� system,� is� very�

difficult.� There� are� often� many� different�

organizations� involved,� each� of� which� has�

multiple� divisions,� with� multiple� levels� of�

authority,� and� often� many� lengthy,� written�

procedure� manuals.� To� make� matters� worse,�

the� manuals� are� seldom� kept� up� to� date� and,�

in� any� event,� cannot� possibly� consider� every�

combination� of� factors� that� might� occur.�

During� the� incident,� the� people� responsible� for�

maintaining� control� (the� pilots,� in� most�

commercial� aviation� incidents)� waste� valuable�

time� poring� through� the� different� manuals,�

trying� to� find� the� relevant� case.� Modern�

computer� systems� attempt� to� help� by�

automatically� diagnosing� the� situation� and�

either� responding� autonomously� or� offering�

operators� the� instructions� to� be� followed,� but�

the� diagnosis� or� recommended� course� of�

actions� is� not� always� appropriate� (because� in�

each� complex� system,� most� accidents� involve�

different� unique� factors).

Different� organizations� might� be� involved:�

police� and� firefighters,� company� safety�

representatives,� multiple� teams� from� different�

divisions� of� a� company,� and� different�

companies� or� government� and� regulatory�

agencies� who� must� coordinate� their� decisions�

and� actions.� It� is� rare� that� the� result� is�

smooth,� flawless� management.

①� The� role� of� technology� in� preventing�

accidents

②� How� poor� management� contributes� to�

major� accidents

③� The� importance� of� updated� manuals� in�

safety� protocols

④�Why� transportation� systems� require� stricter�

regulations

⑤� The� benefits� of� automation� in� reducing�

human� error

18)� 다음� 글의�주제로�가장�적절한�것은?�

[Exercise� 6]

Age� is� not� the� only� determinant� of� spatial�

skills.� While� thirteen-year-old� children� have� all�

the� cognitive� attributes� they� need� to� be�

proficient� at� wayfinding,� some� are� better� at� it�

than� others.� By� this� point,� parental� attitudes,�

freedom� of� movement,� cognitive� differences�

and� life� experience� have� already� begun� to�

leave� their� imprint,� and� they� never� ease� off�

All� of� us� may� be� explorers� when� we're� born,�

but� few� of� us� stay� that� way.� We� end� up�

suppressing� our� childish� natures,� slipping� into�

routines� and� following� the� routes� we� always�

take.� A� recent� study� by� Canadian� psychologists�

found� that� 84� per� cent� of� eight-year-olds�

navigate� by� scrutinizing� their� surroundings� and�

building� a� mental� map,� a� so-called� 'spatial'�

strategy� that� is� also� used� by� almost� all�

competent� adult� navigators.� The� alternative� is�

a� more� closed,� 'egocentric'� strategy,� which�

entails� learning� and� following� a� sequence� of�

turns.� Only� 46� per� cent� of� us� still� use� the�

spatial� approach� in� our� twenties,� and� 39� per�

cent� in� our� sixties.� It� seems� that� we� all� start�

off� roaming� free,� but� most� of� us� end� up� on�

the� straight� and� narrow.� Life� has� a� way� of�

clipping� our� wings.

①� The� role� of� cognitive� development� in�

improving� spatial� navigation

②� How� childhood� experiences� influence� spatial�

abilities

③� The� decline� of� spatial� exploration� with� age

④�Why� early� education� should� focus� on�

navigation� skills

⑤� The� psychological� effects� of� repetitive�

routines� on� creativity



� 2026� 수능특강�영어독해연습�변형문제� [4강]

- 10 -

19)� 다음� 글의� 주제로�가장� 적절한�것은?�

[Exercise� 7]

The� bird� songs� we� hear� every� day� are� more�

than� beautiful.� They� serve� a� practical� purpose.�

Birds� employ� their� voices� to� call� their� mates,�

find� their� flock,� claim� territory,� scare� off�

intruders,� warn� others� about� predators,� and�

for� countless� other� functions.� For� instance,�

Japanese� and� Swiss� researchers� recently�

discovered� that� Japanese� great� tits,� small� birds�

with� jet-black� heads� and� necks� with�

prominent� white� cheeks,� use� syntax� in� their�

songs,� just� as� humans� do� in� their� speech.�

Syntax� is� crucial� to� language.� For� example,� if�

you� say,� "I� love� that� restaurant,"� the� message�

is� clear.� But� not� even� Star� Wars'� Master� Yoda�

could� understand,� "Restaurant� love� that� I."�

Until� recently,� scientists� believed� that� only�

humans� could� string� together� such�

vocalizations.� The� Japanese� great� tit,� it� turns�

out,� is� the� first� animal� apart� from� humans�

who� can� use� phonological� syntax� —� the� ability�

to� combine� sounds� that� individually� have� no�

meaning� into� a� collective� sound� —� that� does.�

To� instruct� other� members� of� his� flock� to� scan�

for� predators,� or� to� attract� a� mate,� a� great� tit�

must� sing� several� distinct� notes� in� the� correct�

order� —� if� the� notes� are� sung� differently,� the�

study� found,� other� birds� will� not� react.

①� How� bird� songs� demonstrate� advanced�

cognitive� abilities

②� The� use� of� phonological� syntax� in� bird�

communication

③� The� role� of� vocalizations� in� territorial�

defense

④�Why� birds� rely� on� auditory� cues� for� social�

interaction

⑤� The� influence� of� environmental� factors� on�

bird� song� development

20)� 다음� 글의�주제로�가장�적절한�것은?�

[Exercise� 8]

When� an� organism� is� confronted� with� some�

sort� of� threat,� it� typically� becomes� vigilant,�

searches� to� gain� information� about� the� nature�

of� the� threat,� struggles� to� find� an� effective�

coping� response.� And� once� a� signal� indicates�

safety� —� the� lion� has� been� evaded,� the� traffic�

cop� buys� the� explanation� and� doesn't� issue� a�

ticket� —� the� organism� can� relax.� But� this� is�

not� what� occurs� in� an� anxious� individual.�

Instead,� there� is� a� frantic� skittering� among�

coping� responses� —� abruptly� shifting� from� one�

to� another� without� checking� whether� anything�

has� worked,� an� agitated� attempt� to� cover� all�

the� bases� and� attempt� a� variety� of� responses�

simultaneously.� Or� there� is� an� inability� to�

detect� when� the� safety� signal� occurs,� and� the�

restless� vigilance� keeps� going.� By� definition,�

anxiety� makes� little� sense� outside� the� context�

of� what� the� environment� is� doing� to� an�

individual.� In� that� framework,� the� brain�

chemicals� and,� ultimately,� the� genes� relevant�

to� anxiety� don't� make� you� anxious.� They�

make� you� more� responsive� to�

anxiety-provoking� situations,� make� it� harder� to�

detect� safety� signals� in� the� environment.

①� How� anxiety� affects� coping� mechanisms� in�

stressful� situations

②� The� biological� basis� of� anxiety� disorders

③� The� role� of� safety� signals� in� managing�

emotional� stress

④�Why� anxiety� leads� to� irrational� fear�

responses

⑤� The� connection� between� anxiety� and�

environmental� factors
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21)� 다음� 글의� 주제로�가장� 적절한�것은?�

[Exercise� 9]

Babies� use� statistical� learning� to� make�

predictions� about� the� world,� guiding� their�

actions.� Like� little� statisticians,� they� form�

hypotheses,� assess� probabilities� based� on� their�

knowledge,� integrate� new� evidence� from� the�

environment,� and� perform� tests.� In� one�

creative� study� by� the� developmental�

psychologist� Fei� Xu,� ten-� to�

fourteen-month-old� children� first� expressed� a�

preference� for� pink� or� black� lollipops,� then�

were� shown� two� candy� jars:� one� containing�

more� black� lollipops� than� pink,� and� one� with�

more� pink� than� black.� The� experimenter� then�

closed� her� eyes� and� drew� one� lollipop� from�

each� jar� so� infants� could� see� only� the� stick,�

not� the� color.� Each� lollipop� was� placed� into� a�

separate,� opaque� cup� with� only� the� stick�

showing.� Infants� crawled� to� the� cup� that� was�

statistically� more� likely� to� contain� their�

preferred� color,� because� it� came� from� a� jar�

where� that� color� was� in� the� majority.�

Experiments� like� this� demonstrate� that� infants�

are� not� merely� reactive� to� the� world.� Even�

from� a� very� young� age,� they� actively� estimate�

probabilities� based� on� patterns� that� they�

observe� and� learn,� to� maximize� the� outcomes�

they� desire.

①� How� infants� use� sensory� experiences� to�

learn� about� the� world

②� The� development� of� cognitive� abilities� in�

early� childhood

③� How� infants� use� statistical� reasoning� to�

predict� outcomes

④� The� role� of� environmental� stimuli� in�

shaping� infant� behavior

⑤� The� importance� of� trial� and� error� in� child�

development

22)� 다음� 글의�주제로�가장�적절한�것은?�

[Exercise� 10]

David� Howes,� a� professor� of� anthropology,�

notes� the� frequent� association� in� different�

cultures� between� scents� and� rituals� of�

transition,� such� as� funerals� or� rites� of� passage.�

He� suggests� that� scent� is� felt� to� be�

symbolically� appropriate� for� moments� of� social�

transition� because� it� so� frequently�

accompanies� and� marks� other� types� of�

physical� transition,� as� when� cooking� smells�

signal� the� transformation� of� raw� ingredients�

into� food.� While� scents� tend� to� escape� spaces�

and� spread� out� of� human� control,� our�

experience� of� them� is� frequently� liminal,� as�

we� notice� scents� far� more� strongly� when� first�

entering� their� range.

You� smell� baking� bread� strongly� as� you� enter�

a� house,� but� after� a� few� minutes� inside,� you�

may� no� longer� be� able� to� smell� it� even� with�

deliberate� effort,� a� physical� process� known� as�

olfactory� adaptation� or� fatigue.� It� takes� an�

overwhelming� odor� to� retain� our� notice� after�

a� period� of� constant� exposure.

Smells� signal� transitions� through� space� as� well�

as� changes� of� state,� and� are� thus� used� to�

mark� socially� important� moments� of� change.

①� How� scents� symbolize� important� life�

transitions

②� The� psychological� effects� of� scent�

adaptation

③�Why� smell� plays� a� role� in� emotional�

well-being

④� The� connection� between� scent� and� physical�

transformation

⑤� How� cultural� traditions� influence� scent�

perception
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23)� 다음� 글의� 주제로�가장� 적절한�것은?�

[Exercise� 11]

Variability� in� judgments� is� also� expected� and�

welcome� in� a� competitive� situation� in� which�

the� best� judgments� will� be� rewarded.� When�

several� companies� (or� several� teams� in� the�

same� organization)� compete� to� generate�

innovative� solutions� to� the� same� customer�

problem,� we� don't� want� them� to� focus� on�

the� same� approach.� The� same� is� true� when�

multiple� teams� of� researchers� attack� a�

scientific� problem,� such� as� the� development� of�

a� vaccine:� we� very� much� want� them� to� look�

at� it� from� different� angles.� Even� forecasters�

sometimes� behave� like� competitive� players.� The�

analyst� who� correctly� calls� a� recession� that� no�

one� else� has� anticipated� is� sure� to� gain� fame,�

whereas� the� one� who� never� strays� from� the�

consensus� remains� obscure.� In� such� settings,�

variability� in� ideas� and� judgments� is� again�

welcome,� because� variation� is� only� the� first�

step.� In� a� second� phase,� the� results� of� these�

judgments� will� be� pitted� against� one� another,�

and� the� best� will� triumph.� In� a� market� as� in�

nature,� selection� cannot� work� without�

variation.

①�Why� competition� fosters� creative� diversity

②� The� role� of� diverse� perspectives� in�

problem-solving

③� How� variability� drives� scientific� and�

economic� breakthroughs

④� The� psychological� effects� of� competitive�

environments

⑤� The� importance� of� collaboration� in� scientific�

innovation

24)� 다음� 글의�주제로�가장�적절한�것은?�

[Exercise� 12]

Intelligent� failures� begin� with� preparation.� No�

scientist� wants� to� waste� time� or� materials� on�

experiments� that� have� been� run� before� and�

failed.� Do� your� homework.� The� classic�

intelligent� failure� is� hypothesis� driven.� You've�

taken� the� time� to� think� through� what� might�

happen� —� why� you� have� reason� to� believe�

that� you� could� be� right� about� what� will�

happen.� My� Harvard� colleague� Thomas� "Tom"�

Eisenmann,� an� entrepreneurship� expert,� finds�

that� many� start-up� failures� are� caused� by� the�

skipping� of� basic� homework.� For� example,�

Triangulate,� an� online� dating� start-up,� rushed�

to� launch� fully� functional� offerings� that� didn't�

fit� any� market� needs.� Eager� to� launch� fast,�

founders� skipped� the� research� —� customer�

interviews� to� probe� for� unmet� needs.� Paying�

no� attentions� to� that� crucial� preparation,� the�

company� paid� the� price.� Tom� attributes� this�

common� failure,� in� part,� to� "the� 'fail� fast'�

mantra,"� which� overemphasizes� action,�

shortchanging� preparation.� Moreover,� while�

this� might� seem� self-evident,� once� you've�

done� the� homework,� you� must� heed� what� it's�

telling� you.

①� The� importance� of� preparation� in�

preventing� business� failures

②� How� startups� can� avoid� financial� losses�

through� research

③�Why� rushing� product� launches� leads� to�

entrepreneurial� failure

④� The� role� of� market� research� in� ensuring�

business� success

⑤� The� psychological� effects� of� failure� on�

entrepreneurs
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정답�및�해설

1)� 정답� 분석

�정답:� ③� 인간이� 화석� 연료를� 사용함으로써� 기후� 변화가�

발생하고�있음을�명확히�입증해야�한다.

� 근거:� "We� need� to� prove,� beyond� a� reasonable�

doubt,� that� climate� is� changing� and� that� human�

use� of� fossil� fuels,� not� something� else,� is�

responsible� for� the� climate� change� we� are�

observing."

➡ 기후� 변화가� 인간의� 화석� 연료� 사용으로� 인한� 것임을�

명확히�증명해야�한다는�점을� 강조함.

오답� 분석

①� 화석� 연료는� 긍정적인� 면도� 있지만,� 기후� 변화의� 원인

이�될�수�있음.

②�기후� 변화의�증거는�과학적으로�입증� 가능함.

④� 기후� 변화는� 인간� 활동과� 연관이� 깊다고� 주장하고� 있

음.

⑤�화석� 연료�사용은�일부�유익한�점도�있지만,� 기후�변화

에�대한�책임도�있음.

2)� � 정답:� ③� 언어의� 문법� 규칙은� 사회적� 사실로서� 개인

의�무의식적�습관에�의해�작동한다.

� 근거:� "The� grammatical� structure� is� a� 'social� fact'�

in� Durkheim's� sense� of� being� external� to� and�

constraining� for� individual� speakers...� speaking�

grammatically� is� a� matter� of� unreflective� habit�

rather� than� conscious� rule� following."

➡ 언어의� 문법은� 사회적으로� 형성되며,� 무의식적� 습관에�

의해�작동한다는�점을�강조함.

오답� 분석

①� 문법� 규칙은� 개인의� 주관적� 선호에� 따라� 자유롭게� 적

용되지�않음.

②� 개인이� 자각적으로� 모든� 문법� 규칙을� 인식하고� 따르는�

것은�아님.

④� 책에� 기록된� 규칙은� 단지� 문법을� 설명할� 뿐,� 실질적인�

문법�작동의�근거는�아님.

⑤� 언어� 구조는� 개인의� 창의성과� 무관하게� 사회적� 규칙에�

따라�작동함.

3)� 정답� 분석

�정답:� ③� 인간과� 환경은� 상호작용하며,� 환경은� 인간과의�

관계�속에서�의미를�가진다.

� 근거:� "There� is� rather� a� reciprocal� relation� between�

people� and� the� things� and� conditions� with�

which� we� live."

➡ 인간과� 환경은� 상호작용하며,� 환경도� 인간과의� 관계�

속에서�의미를�가지게�된다는�점을�강조함.

오답� 분석

①�인간은�환경과�독립적으로�존재할�수� 없음.

②�인간의�존재는�환경과�밀접한�관련이�있음.

④�환경은�인간의�영향에서�자유롭지�않음.

⑤�인간은�환경과의�관계를�고려해야�함.

4)� 정답�분석

� 정답:� ②� 저널리즘은� 독립적인� 직업적� 지위를� 확립하는�

데� 어려움을�겪고�있다.

� 근거:� "Journalism� has� long� struggled� to� comfortably�

inhabit� this� definition."

➡ 저널리즘이� 독립적인� 직업적� 지위를� 확립하는� 데� 어려

움을�겪고�있음을�설명함.

오답�분석

①�명확한�전문적�기준이�부족함이�강조됨.

③�언론의�자유가�전문성을�강화한다는�주장은�없음.

④� 인터넷의� 발전이� 오히려� 저널리즘의� 독립성을� 약화시

킴.

⑤� 저널리즘은� 추상적인� 개념보다는� 명확한� 설명을� 중시

함.

5)� 정답�분석

� 정답:� ③� 복잡한� 시스템에서는� 관리� 실패가� 주요� 사고의�

공통된�원인이다.

� 근거:� "The� one� common� theme� of� many� of� their�

findings� is� poor� management� throughout� the�

system."

➡ 복잡한� 시스템에서는� 관리� 실패가� 주요한� 사고� 원인임

을�강조함.

오답�분석

①� 사고� 원인은� 설계� 결함이나� 유지� 보수� 실패� 외에도� 다

양한�요인이�존재함.

②�모든�사고를�완벽히�예방할�수는� 없음.

④�매뉴얼은�모든�상황에�적용될�수� 없음.

⑤�사고�발생� 시� 협력적인�대응이�필요함.

6)� 정답�분석

� 정답:� ③� 성장하면서� 개인의� 환경� 경험과� 인지적� 차이가�

공간적�탐색� 능력에�영향을�미친다.

� 근거:� "By� this� point,� parental� attitudes,� freedom� of�

movement,� cognitive� differences� and� life�

experience� have� already� begun� to� leave� their�

imprint,� and� they� never� let� up."

➡ 성장하면서� 환경적� 경험과� 인지적� 차이가� 탐색� 능력에�

지속적으로�영향을�미친다는�점이�강조됨.

오답�분석

①� 나이가� 들수록� 공간적� 탐색� 능력이� 자연스럽게� 향상되

는�것은�아님.

②� 대부분의� 사람들은� 나이가� 들면서� 탐험가� 기질이� 감소

함.

④�새로운�환경에�더�잘�적응하는�것은� 일반적이지�않음.

⑤� 유전적인� 요인뿐� 아니라� 환경적� 요인도� 탐색� 능력에�

중요한�영향을�미침.

7)� 정답�분석

� 정답:� ③� 일부� 새들은�인간과�유사한�문법�구조를�활용한�

의사소통이�가능하다.

� 근거:� "The� Japanese� great� tit...� is� the� first� animal�

apart� from� humans� (that� we� know� of� so� far)�

who� can� use� phonological� syntax."

➡ 일부� 새들이� 인간과� 유사한� 문법� 구조를� 활용해� 의사

소통할�수�있다는�점이�강조됨.
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오답�분석

①� 새의� 노래는� 단순히� 아름다움이� 아닌� 실용적인� 목적을�

가짐.

②�인간만이�문법� 구조를�사용하는�것은� 아님.

④�새들의�노래는�무작위적으로�만들어지는�것이�아님.

⑤�새들의�노래는�소리의�순서에�따라�의미가�달라짐.

8)� 정답� 분석

�정답:� ③� 불안은� 환경적� 자극에� 대한� 민감성을� 높이며,�

안전�신호를�인식하기�어렵게�만든다.

� 근거:� "They� make� you� more� responsive� to�

anxiety-provoking� situations,� make� it� harder� to�

detect� safety� signals� in� the� environment."

➡ 불안은� 환경적� 자극에� 대한� 민감성을� 증가시키며,� 안

전�신호를�인식하기�어렵게�만듦.

오답� 분석

①�불안은�사람마다�다르게�나타남.

②� 불안은� 생물학적� 요인뿐만� 아니라� 환경적� 요인에� 의해�

발생함.

④�불안은�외부�자극과�밀접한�관련이�있음.

⑤�유전적�요소�외에도�환경적�요인이�중요한�역할을�함.

9)� 정답� 분석

�정답:� ③� 영아는� 확률과� 패턴을� 학습해� 행동을� 예측하고�

결정한다.

� 근거:� "Infants� are� not� merely� reactive� to� the� world.�

Even� from� a� very� young� age,� they� actively�

estimate� probabilities� based� on� patterns� that�

they� observe� and� learn,� to� maximize� the�

outcomes� they� desire."

➡ 영아는� 확률과� 패턴을� 학습하고� 이를� 바탕으로� 행동을�

결정한다는�점이� 강조됨.

오답� 분석

①�영아는�수동적으로�반응하지�않고� 적극적으로�예측함.

②�영아는�확률�개념을�이해할�수� 있음.

④�특정� 색상�선호는�본능적인�것이�아님.

⑤� 영아의� 행동은� 무작위적이지� 않고� 확률과� 패턴을� 기반

으로�결정됨.

10)� 정답�분석

�정답:� ②� 향기는�사회적�전환과�상징적으로�연결될�수� 있

다.

� 근거:� "Scent� is� felt� to� be� symbolically� appropriate�

for� moments� of� social� transition� because� it� so�

frequently� accompanies� and� marks� other� types� of�

physical� transition."

➡ 향기가� 사회적� 전환과� 상징적으로� 연결될� 수� 있음을�

강조함.

오답� 분석

①�냄새는�인지적�기억과�깊은� 연관이�있음.

③�향기는�긍정적,� 부정적�의미�모두�가질� 수� 있음.

④�향기의�의미는�문화마다�다를�수�있음.

⑤�냄새에�대한�인식은�시간이�지나면서�약해질�수�있음.
11)� 정답�분석

�정답:� ③� 경쟁적� 환경에서는� 다양한� 판단이� 창의적� 해결

책을�촉진한다.

� 근거:� "In� such� settings,� variability� in� ideas� and�

judgments� is� again� welcome,� because� variation� is�

only� the� first� step."

➡ 다양한� 판단과� 접근� 방식이� 창의적인� 해결책을� 촉진하

는�데� 도움이�된다는�점을�강조함.

오답�분석

①�경쟁�상황에서�다양성은�오히려�긍정적으로�작용함.

②�다양한�관점은�문제� 해결에�필수적임.

④� 문제� 해결� 과정에서� 동일한� 접근� 방식만을� 요구하지�

않음.

⑤�경쟁은�긍정적�결과도�가져올�수� 있음.

12)� 정답�분석

� 정답:� ③� 준비된�실패는�혁신과�발전의�기회를�제공할�수�

있다.

� 근거:� "The� classic� intelligent� failure� is� hypothesis�

driven.� You've� taken� the� time� to� think� through�

what� might� happen."

➡ 실패도� 준비된� 상태에서� 발생하면� 발전과� 혁신의� 기회

가�될� 수� 있음을�강조함.

오답�분석

①� 실패는� 준비� 부족에서� 비롯되지만,� 항상� 그런� 것은� 아

님.

②� 준비된� 실패는� 대비� 가능하며� 유익한� 경험이� 될� 수� 있

음.

④�빠른�실행이�항상�성공적인�결과를�보장하지�않음.

⑤�실패의�원인은�내부� 요인에서도�발생할�수� 있음.

13)� 정답:� ③� The� importance� of� proving� human�

responsibility� for� climate� change

� 정답�분석

근거�문장:

"We� need� to� prove,� beyond� a� reasonable� doubt,�

that� climate� is� changing� and� that� human� use� of�

fossil� fuels,� not� something� else,� is� responsible� for�

the� climate� change� we� are� observing."

� 설명:� 본문은�기후�변화의�원인이�인간�활동�때문임을�명

확히� 증명해야만� 사회� 전체가� 화석� 연료� 사용을� 줄이

는�방향으로�나아갈�수�있다고�주장하고�있다.

� 오답�분석

①�화석�연료의�장점은�언급되지만,� 주된� 논점은�아니다.

②� 기후� 변화의�탐지(detection)보다� 책임(attribution)� 증

명이�중심이다.

④�기술�혁신에�대한�내용은�전혀�언급되지�않는다.

⑤� 경제적� 영향보다� 기후� 변화에� 대한� 인간의� 책임이� 강

조된다.

14)� 정답:� ①� How� unconscious� language� habits�

shape� communication

� 정답�분석

근거�문장:

"Speaking� grammatically� is� a� matter� of� unreflective�
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habit� rather� than� conscious� rule� following."

� 설명:� 본문은� 무의식적인� 언어� 습관이� 커뮤니케이션에서�

문법적� 규칙을� 형성하고� 유지하는� 데� 중요한� 역할을�

한다고�설명한다.

� 오답�분석

②�사회적�기능보다는�개인의�무의식적�습관이�강조된다.

③�문법� 규칙의�역사적�발전에�대한�언급은�없다.

④�공식적인�문법� 교육�필요성은�다루어지지�않는다.

⑤�언어와�문화적�정체성의�관계도�논의되지�않는다.

15)� 정답:� ②� How� human� presence� shapes� the�

perception� of� the� environment

� 정답�분석

근거�문장:

"Environment� is,� then,� a� field� that� includes� the�

human� participant."

� 설명:� 본문은� 인간의� 존재와� 상호작용이� 환경의� 구성과�

인식에�필수적인�역할을�한다고�설명하고�있다.� 환경은�

독립적인�요소들의�집합이�아니라,� 인간의�참여로�완성

되는�상호작용의�장이다.

� 오답�분석

①�감정에�대한�논의는�없다.

③� 환경의� 심리적� 영향보다� 인간과� 환경의� 상호작용이� 중

심이다.

④� 환경� 보전이나� 인간� 참여의� 필요성은� 다루어지지� 않는

다.

⑤�자연재해에�대한�내용도�전혀�등장하지�않는다.

16)� 정답:� ③� The� struggle� of� journalism� to� establish�

itself� as� a� true� profession

� 정답�분석

근거�문장:

"Although� it� is� commonly� categorized� as� a�

profession,� journalism� has� long� struggled� to�

comfortably� inhabit� this� definition."

� 설명:� 본문은�저널리즘이�전문직으로�인정받기�위해� 겪어

온� 어려움을� 강조한다.� 특히,� 법률이나� 의학처럼� 엄격

한� 기준이나� 자격� 요건이� 없기� 때문에� 전문직으로� 확

립하기가�쉽지�않았음을�설명하고�있다.

� 오답�분석

①�자격� 요건에�대한� 언급은�있지만,� 글의� 주제는�아니다.

②� 기술� 플랫폼의� 영향은� 일부� 언급되지만,� 핵심� 주제가�

아니다.

④�추상적�지식보다는�전문성�확보의�어려움이�주제이다.

⑤�언론의�자유�자체는�논의되지�않는다.

17)� 정답:� ②� How� poor� management� contributes� to�

major� accidents

� 정답�분석

근거�문장:

"The� one� common� theme� of� many� of� their� findings�

is� poor� management� throughout� the� system."

� 설명:� 본문은�대형� 사고의�주요� 원인으로�관리�부실을�지

적하며,� 복잡한�시스템�내에서의�비효율적인�관리가�사

고로�이어질�수� 있음을�설명하고�있다.

� 오답�분석

①�기술의�역할보다는�관리�부실이�핵심이다.

③� 매뉴얼� 업데이트는� 부차적인� 문제일� 뿐,� 주제가� 아니

다.

④�규제의�필요성에�대한�논의는�없다.

⑤�자동화의�이점도�언급되지�않았다.

18)� 정답:� ③� The� decline� of� spatial� exploration� with�

age

� 정답�분석

근거�문장:

"It� seems� that� we� all� start� off� roaming� free,� but�

most� of� us� end� up� on� the� straight� and� narrow.�

Life� has� a� way� of� clipping� our� wings."

� 설명:� 본문은� 인간이� 어릴� 때는� 자유롭게� 탐험하지만,� 나

이가� 들면서� 공간� 탐색� 능력이� 감소하고� 제한된� 경로

에�갇히게�되는� 경향이�있음을�강조한다.

� 오답�분석

①�인지�발달보다는�탐색�능력의�감소가�중심이다.

②�어린�시절� 경험보다는�나이에�따른�변화가�주제이다.

④�조기�교육에�대한�논의는�없다.

⑤� 반복적인� 일상보다는� 탐색� 능력� 감소에� 대한� 내용이�

주제이다.

19)� 정답:� ②� The� use� of� phonological� syntax� in� bird�

communication

� 정답�분석

근거�문장:

"The� Japanese� great� tit,� it� turns� out,� is� the� first�

animal� apart� from� humans� (that� we� know� of� so�

far)� who� can� use� phonological� syntax� —� the�

ability� to� combine� sounds� that� individually� have�

no� meaning� into� a� collective� sound� —� that�

does."

� 설명:� 본문은�일본�박새가�인간�외의� 동물�중에서�최초로�

음운학적� 구문(phonological� syntax)을� 사용할� 수� 있

음을�강조하고�있다.

� 오답�분석

①�고급�인지� 능력보다는�구문의�사용이�중심이다.

③�영토�방어에�대한�내용은�나오지�않는다.

④�청각적�신호보다는�구문의�구조가�주제이다.

⑤�환경�요인에�대한�논의는�전혀�등장하지�않는다.

20)� 정답:� ①� How� anxiety� affects� coping�

mechanisms� in� stressful� situations

� 정답�분석

근거�문장:

"Instead,� there� is� a� frantic� skittering� among� coping�

responses� —� abruptly� shifting� from� one� to�

another� without� checking� whether� anything� has�

worked."
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� 설명:� 본문은� 불안이� 있을� 때� 대처� 메커니즘이� 비효율적

으로�작동하며,� 긴장된�상황에서�다양한�반응으로�빠르

게�전환하는�특징이�있다고�설명하고�있다.

� 오답�분석

②� 생물학적� 기반보다는� 대처� 메커니즘의� 변화가� 중심이

다.

③� 안전� 신호보다는� 불안이� 대처� 방식에� 미치는� 영향이�

주제이다.

④� 비이성적인� 공포� 반응보다� 불안의� 행동적� 결과가� 강조

된다.

⑤�환경� 요인에�대한� 논의는�없다.

21)� 정답:� ③� How� infants� use� statistical� reasoning� to�

predict� outcomes

� 정답�분석

근거�문장:

"Infants� crawled� to� the� cup� that� was� statistically�

more� likely� to� contain� their� preferred� color,�

because� it� came� from� a� jar� where� that� color�

was� in� the� majority."

� 설명:� 본문은� 유아들이� 환경에서� 얻은� 정보를� 활용해� 통

계적� 추론을� 사용하며,� 이를� 통해� 원하는� 결과를� 예측

하고�행동에�반영한다고�설명한다.

� 오답�분석

①�감각적�경험보다는�통계적�추론이�주제이다.

②� 초기� 인지� 능력� 발달보다� 통계적� 판단에� 초점이� 맞춰

져�있다.

④�환경적�자극보다는�확률� 추론이�중심이다.

⑤�시행착오보다는�확률적�예측이�주제이다.

22)� 정답:� ①� How� scents� symbolize� important� life�

transitions

� 정답�분석

근거�문장:

"Smells� signal� transitions� through� space� as� well� as�

changes� of� state,� and� are� thus� used� to� mark�

socially� important� moments� of� change."

� 설명:� 본문은�향기가�중요한�인생의�전환점에서�상징적인�

역할을� 하며,� 이를� 통해� 사회적� 의미를� 전달한다고� 설

명한다.

� 오답�분석

②�후각� 적응은�주제가�아니다.

③�정서적�웰빙과�관련된�내용은�없다.

④�물리적�변화보다는�사회적�의미가�중심이다.

⑤�문화적�전통과�향의�인식과의�관계는�언급되지�않았다.

23)� 정답:� ③� How� variability� drives� scientific� and�

economic� breakthroughs

� 정답�분석

근거�문장:

"In� a� market� as� in� nature,� selection� cannot� work�

without� variation."

� 설명:� 본문은� 다양성이� 과학적� 연구와� 경제적� 발전에서�

중요한�돌파구를�제공한다고�강조하고�있다.

� 오답�분석

①�경쟁보다는�변이성의�필요성이�강조된다.

②�문제�해결보다는�경쟁과�선택의�과정이�중심이다.

④�심리적�효과는�주제가�아니다.

⑤�협업보다�경쟁에서의�다양성이�주제이다.

24)� 정답:� ①� The� importance� of� preparation� in�

preventing� business� failures

� 정답�분석

근거�문장:

"No� scientist� wants� to� waste� time� or� materials� on�

experiments� that� have� been� run� before� and�

failed.� Do� your� homework."

� 설명:� 본문은� 사전� 준비가� 실패를� 방지하는� 데� 필수적이

라는� 점을� 강조하며,� 특히� 스타트업이� 철저한� 조사� 없

이� 서둘러� 제품을� 출시하면� 실패할� 가능성이� 높다고�

설명한다.

� 오답�분석

②�재정적�손실보다는�사전�준비의�중요성이�중심이다.

③� 제품� 출시의� 서두름보다는� 준비� 부족이� 주요� 원인으로�

설명된다.

④�시장�조사보다�전반적인�준비의�중요성이�강조된다.

⑤�심리적�효과는�다루어지지�않는다.

25)� � 정답:� ③� Proving� Human� Responsibility� for�

Climate� Change

� 근거�문장:

"It� is� incumbent� upon� us� to� prove� that� the�

downside� is� greater� than� the� very� real� upside�

that� fossil� fuels� have� offered."

� 오답�분석

①� How� Fossil� Fuels� Benefit� Modern� Technology� →�

화석� 연료가� 기술� 발전에� 기여했다는� 논의는� 중심� 주

제가�아니다.

②� The� Economic� Advantages� of� Ignoring� Climate�

Change� →� 기후� 변화를�무시하는�것이� 경제적으로�이

익이�된다는�주장은�지문과�맞지�않는다.

④� Why� Ending� Fossil� Fuel� Use� Is� Unnecessary� →� 화

석� 연료� 사용� 중단이� 불필요하다는� 주장은� 지문과� 상

반된다.

⑤� The� Historical� Importance� of� Fossil� Fuels� →� 화석�

연료의� 역사적� 중요성에� 대한� 논의는� 지문에서� 다루어

지지�않는다.

26)� � 정답:� ③� The� Unconscious� Nature� of�

Grammatical� Structures

� 근거�문장:

"Speakers� typically� have� only� a� very� limited� and�

partial� awareness� of� the� rules� of� their� own�

grammar,� and� speaking� grammatically� is� a�

matter� of� unreflective� habit� rather� than�

conscious� rule� following."

지문은� 사람들이� 문법� 규칙을� 대부분� 무의식적으로� 따르

고�있음을�강조한다.

� 오답�분석

①� How� Grammar� Shapes� National� Identity� →� 문법이�

국가�정체성에�미치는�영향에�대한� 논의는�없다.

②� The� Negative� Effects� of� Language� Rules� on�

Communication� →� 언어� 규칙이� 소통에� 부정적인� 영

향을�미친다는�주장은�지문과�상반된다.
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④� Why� Language� Rules� Should� Be� Abandoned� →�

언어� 규칙을� 폐지해야� 한다는� 주장은� 지문에서� 제시되

지�않는다.

⑤� The� Impact� of� Technology� on� Language�

Evolution� →� 기술이� 언어의� 발전에� 미치는� 영향에� 대

한�논의는�없다.

27)� � 정답:� ③� The� Interdependent� Relationship�

Between� Humans� and� Environment

� 근거�문장:

"When� environment� involves� human� interests,� it�

must� necessarily� be� understood� in� relation� to�

humans� and� not� as� an� array� of� independent�

objects."

"Environment� is� not� just� open� space� filled� with�

arrangements� of� independent� objects� but� rather�

is� a� field� of� forces� in� compelling� relationships� of�

attraction,� repulsion,� and� neutrality� or�

indifference."

"Environment� is,� then,� a� field� that� includes� the�

human� participant."

지문은� 환경이� 인간과� 독립적으로� 존재하는� 것이� 아니라�

인간과의� 관계� 속에서� 의미를� 가지며,� 인간의� 행동과�

상호작용한다는�점을�강조하고�있다.

따라서� **'The� Interdependent� Relationship� Between�

Humans� and� Environment'**가� 가장� 적절한� 제목이

다.

� 오답�분석:

①� The� Role� of� Human� Perception� in� Environmental�

Design� →� (부분적으로� 맞음.� 하지만� 환경� 자체의� 개

념을� 설명하는� 것이지,� 환경� 디자인에� 대한� 논의가� 아

님.)

②� How� Environmental� Psychology� Shapes� Human�

Behavior� →� (의미� 왜곡.� 환경심리학이� 인간� 행동에�

미치는�영향에�집중된�논의가�아님.)

④� Understanding� the� Concept� of� Affordances� in�

Human� Interaction� →� (지나치게� 구체적.�

'Affordance'� 개념이� 나오긴� 하지만,� 지문의� 핵심이�

아님.)

⑤� The� Psychological� Impact� of� Open� Spaces� on�

Human� Well-being� →� (지문에� 언급되지� 않음.� 열린�

공간의�심리적�영향에�대한�논의는�없음.)

28)� � 근거�문장:

"Journalism� has� long� struggled� to� comfortably�

inhabit� this� definition."

지문은� 저널리즘이� 직업적� 정체성을� 확립하는� 데� 어려움

을�겪어왔으며,� 법률이나�의학과�같은� 전통적인�직업과

의�차이점을�설명하고�있다.

� 오답�분석

①� The� Rise� of� Artificial� Intelligence� in� Journalism� →�

인공지능과�저널리즘의�관계에�대한�내용은�없다.

②� How� Journalists� Establish� Legal� Authority� →� 기자

들이�법적�권위를�확립하는�방법에�대한�논의는�없다.

④� Why� Modern� Journalism� Rejects� Technological�

Advancement� →� 현대� 저널리즘이� 기술� 발전을� 거부

한다는�주장은�지문과�맞지�않는다.

⑤� The� Legal� Restrictions� on� Journalistic� Freedom� →�

언론의� 자유에� 대한� 법적� 제한에� 대한� 설명은� 지문에

서�다루어지지�않는다.

29)� � 정답:� ①� The� Role� of� Poor� Management� in�

Major� Accidents

� 근거�문장:

"The� one� common� theme� of� many� of� their� findings�

is� poor� management� throughout� the� system."

지문은� 복잡한� 시스템에서� 발생하는� 주요� 사고의� 주요� 원

인이�전반적인�관리�부족이라는�점을�강조하고�있다.

� 오답�분석

②� How� Modern� Technology� Prevents� Transportation�

Failures� →� 현대� 기술이� 운송� 사고를� 예방한다는� 주장

은�지문에서�강조되지�않는다.

③� The� Benefits� of� Simplified� Procedure� Manuals� →�

간소화된�매뉴얼의�이점에�대한� 논의는�없다.

④� Why� Accidents� Are� Rare� in� Complex� Systems� →�

복잡한� 시스템에서� 사고가� 드물다는� 주장은� 지문과� 반

대된다.

⑤� The� Impact� of� Government� Regulations� on�

Transportation� Safety� →� 정부� 규제가� 운송� 안전에�

미치는�영향에�대한�내용은�다루어지지�않는다.

30)� � 정답:� ③� The� Decline� of� Spatial� Exploration�

with� Age

� 근거�문장:

"We� all� start� off� roaming� free,� but� most� of� us� end�

up� on� the� straight� and� narrow.� Life� has� a� way�

of� clipping� our� wings."

지문은� 나이가� 들수록� 사람들의� 공간� 탐험� 능력이� 저하되

고,� 더� 제한된� 방식으로� 움직이게� 되는� 경향이� 있음을�

강조한다.

� 오답�분석

①� The� Influence� of� Age� on� Problem-Solving�

Abilities� →� 문제� 해결� 능력과� 나이의� 관계는� 다루어

지지�않는다.

②�Why� Children� Have� Superior� Navigational� Skills� →�

어린이가� 뛰어난� 탐색� 능력을� 가진� 이유에� 대한� 설명

은�없다.

④� How� Technology� Enhances� Human� Navigation� →�

기술이�탐색� 능력을�향상시킨다는�내용은�없다.

⑤� The� Impact� of� Urbanization� on� Spatial� Awareness�

→� 도시화가� 공간� 인식에� 미치는� 영향은� 논의되지� 않

는다.

31)� � 정답:� ③� The� Complex� Syntax� of� Bird� Songs

� 근거�문장:

"Japanese� great� tits� [...]� use� syntax� in� their� songs,�

just� as� humans� do� in� their� speech."

지문은� 특정� 새들이� 인간과� 비슷한� 방식으로� 음성� 구문론

을�사용한다는�연구�결과를�중심으로�설명하고�있다.
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� 오답�분석

①� The� Importance� of� Bird� Migration� Patterns� →� 새

의�이동�패턴에�대한�논의는�없다.

②� How� Birds� Communicate� Through� Visual� Cues� →�

시각적� 신호를� 통한� 새의� 소통� 방식에� 대한� 설명은� 없

다.

④� Why� Bird� Songs� Are� Becoming� Extinct� →� 새들의�

노래가�사라지고�있다는�내용은�다루어지지�않는다.

⑤� The� Negative� Impact� of� Urban� Noise� on� Birds� →�

도시� 소음이� 새들에게� 미치는� 영향에� 대한� 논의는� 없

다.

32)� � 정답:� ①� How� Environmental� Factors� Influence�

Anxiety� Responses

� 근거�문장:

"The� brain� chemicals� and,� ultimately,� the� genes�

relevant� to� anxiety� don't� make� you� anxious.�

They� make� you� more� responsive� to�

anxiety-provoking� situations."

� 오답�분석

②� The� Positive� Effects� of� Anxiety� on� Social�

Behavior� →� 불안이� 사회적� 행동에� 긍정적� 영향을� 준

다는�내용은�없다.

③� The� Role� of� Brain� Chemistry� in� Reducing� Anxiety�

→� 뇌� 화학이� 불안을� 줄인다는� 설명은� 다루어지지� 않

는다.

④� Why� Anxiety� Enhances� Cognitive� Performance� →�

불안이�인지�기능을�향상시킨다는�주장은�없다.

⑤� The� Decline� of� Anxiety� Disorders� in� Modern�

Society� →� 현대� 사회에서� 불안� 장애가� 감소하고� 있다

는�내용은�다루어지지�않는다.

33)� � 정답:� ②� How� Infants� Use� Probability� to� Make�

Decisions

� 근거�문장:

"Infants� are� not� merely� reactive� to� the� world.� Even�

from� a� very� young� age,� they� actively� estimate�

probabilities� based� on� patterns� that� they� observe�

and� learn,� to� maximize� the� outcomes� they�

desire."

지문은� 아기들이� 확률적� 사고를� 사용해� 주변� 환경에서� 정

보를� 수집하고� 예측하며� 행동을� 결정한다는� 점을� 설명

하고�있다.

� 오답�분석

①� The� Cognitive� Limits� of� Infant� Memory� →� 아기의�

기억력�한계에�대한� 내용은�없다.

③� The� Failure� of� Infants� in� Predicting� Outcomes� →�

아기들이�예측에�실패한다는�주장은�지문과�상반된다.

④� Why� Environmental� Cues� Are� Irrelevant� to�

Infants� →� 환경적�단서가�아기들에게�무의미하다는�주

장은�지문과�맞지�않는다.

⑤� The� Negative� Impact� of� Early� Learning� on�

Development� →� 조기� 학습이� 발달에� 부정적� 영향을�

준다는�내용은�없다.

34)� � 정답:� ③� The� Symbolic� Role� of� Scents� in� Social�

Transitions

� 근거�문장:

"Scent� is� felt� to� be� symbolically� appropriate� for�

moments� of� social� transition� because� it� so�

frequently� accompanies� and� marks� other� types� of�

physical� transition."

지문은�향기가�사회적�전환의�상징적�역할을�하며,� 의식이

나� 변화의� 순간을� 나타내는� 중요한� 요소로� 작용함을�

강조하고�있다.

� 오답�분석

①� How� Scents� Influence� Emotional� Stability� →� 향기

가�감정�안정성에�미치는�영향에�대한� 내용은�없다.

②� The� Psychological� Benefits� of� Strong� Scents� →� 강

한� 향기가� 심리적� 이점을� 제공한다는� 주장은� 설명되지�

않는다.

④� Why� Modern� Society� Ignores� Traditional� Scents�

→� 현대� 사회가� 전통적인� 향기를� 무시한다는� 논의는�

없다.

⑤� The� Decline� of� Olfactory� Sensitivity� in� Humans� →�

인간의� 후각� 능력� 감소에� 대한� 내용은� 다루어지지� 않

는다.

35)� � 정답:� ③� The� Benefits� of� Variability� in�

Competitive� Environments

� 근거�문장:

"Variability� in� ideas� and� judgments� is� again�

welcome,� because� variation� is� only� the� first�

step."

지문은� 경쟁� 환경에서� 다양한� 아이디어와� 판단이� 어떻게�

긍정적인� 역할을� 하며,� 혁신을� 촉진하는� 데� 중요한� 역

할을�한다는�점을�강조하고�있다.

� 오답�분석

①� The� Negative� Impact� of� Uniformity� in� Judgments�

→� 판단의� 일관성이� 부정적인� 영향을� 미친다는� 내용은�

없다.

②� Why� Scientific� Research� Requires� a� Single�

Approach� →� 과학�연구에�단일� 접근�방식이�필요하다

는�주장은�지문과�상반된다.

④� How� Predictability� Enhances� Market� Success� →�

예측�가능성이�시장�성공을�높인다는�논의는�없다.

⑤� The� Decline� of� Innovation� in� Modern� Research� →�

현대� 연구에서� 혁신이� 감소하고� 있다는� 주장은� 다루어

지지�않는다.

36)� 정답:� ③� The� Importance� of� Preparation� in�

Preventing� Failure

� 근거�문장:

"No� scientist� wants� to� waste� time� or� materials� on�

experiments� that� have� been� run� before� and�

failed.� Do� your� homework."

지문은� 실패를� 예방하기� 위해� 철저한� 준비가� 필수적이며,�

준비� 부족이� 종종� 스타트업� 실패의� 원인이� 된다고� 설

명하고�있다.

� 오답�분석
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①� The� Consequences� of� Avoiding� Failure� in�

Business� →� 실패를� 피하려는� 것이� 가져오는� 결과에�

대한�논의는�없다.

②� Why� Entrepreneurs� Should� Ignore� Market�

Research� →� 시장� 조사를� 무시해야� 한다는� 주장은� 지

문과�명백히�상반된다.

④� How� Overconfidence� Leads� to� Business� Success�

→� 과도한� 자신감이� 성공으로� 이어진다는� 주장은� 지문

에서�다루어지지�않는다.

⑤� The� Decline� of� Innovation� in� Start-Up� Companies�

→� 스타트업에서의�혁신�감소에�대한�논의는�없다.

37)� � 정답:� ②� With� complete� certainty� based� on�

evidence

� 근거� 문장:� "We� need� to� prove,� beyond� a�

reasonable� doubt,� that� climate� is� changing� and�

that� human� use� of� fossil� fuels,� not� something�

else,� is� responsible� for� the� climate� change� we�

are� observing."

� 설명:

밑줄� 친� 표현은� 확실한� 증거를� 기반으로� 한� 완전한� 확신

을�의미함.

� 오답�분석

①�증거� 없이�주장하는�것이�아님.

③�과학적�데이터를�무시하는�것이�아님.

④�근거� 없는�가정이�아님.

⑤�불확실성을�포함하지�않음.

38)� � 정답:� ③� An� automatic� behavior� without�

conscious� thought

� 근거� 문장:� "Speaking� grammatically� is� a� matter� of�

unreflective� habit� rather� than� conscious� rule�

following."

� 설명:

밑줄� 친� 표현은� 의식적인� 생각� 없이� 자동적으로� 이루어지

는�습관적�행동을�의미함.

� 오답�분석

①�의도적인�규칙� 적용이�아님.

②�올바르게�말하기�위한�고의적인�노력이�아님.

④�체계적인�언어� 구조�검토가�아님.

⑤�언어� 패턴에�대한� 심사숙고가�아님.

39)� � 정답:� ③� The� environment� and� humans� are�

interconnected� and� influence� each� other.

� 근거� 문장:� "There� is� rather� a� reciprocal� relation�

between� people� and� the� things� and� conditions�

with� which� we� live."

� 설명:

밑줄� 친� 표현은� 인간과� 환경이� 서로� 영향을� 주고받으며�

분리될�수� 없는�관계에�있음을�의미함.

40)� � 정답:� ③� Advanced� knowledge� specific� to� a�

particular� field

� 근거� 문장:� "The� accessibility� of� journalistic� language�

is� helpful� for� informing� the� public,� but� it� also�

renders� journalists'� claims� to� specialized� expertise�

potentially� suspect."

� 설명:

밑줄�친�표현은�특정�분야에�특화된�고급�지식을�의미함.

� 오답�분석

①�누구나�습득할�수�있는� 기본�기술이�아님.

②�모든�사람이�공유하는�일반�지식이�아님.

④�모든�직업에�적용�가능한�일반적인�이해가�아님.

⑤�직업과�무관한�정보가�아님.

41)� � 정답:� ③� Lose� critical� moments� by� over-relying�

on� documentation

� 근거� 문장:� "During� the� incident,� the� people�

responsible� for� maintaining� control� waste�

valuable� time� poring� through� the� different�

manuals,� trying� to� find� the� relevant� case."

� 설명:

밑줄� 친� 표현은� 절차서에� 너무� 의존한� 나머지� 중요한� 시

간을�허비하는�상황을�의미함.

42)� � 정답:� ③� Limiting� freedom� or� restricting�

exploration

� 근거�문장:� "Life� has� a� way� of� clipping� our� wings."

� 설명:

밑줄� 친� 표현은� 자유나� 탐험의� 기회를� 제한하는� 것을� 의

미함.

� 오답�분석

①�탐험의�기회를�제공하는�것이� 아님.

②�개인의�욕구를�추구하도록�허용하는�것이�아님.

④�모험적인�행동을�장려하는�것이�아님.

⑤�무한한�가능성을�촉진하는�것이�아님.

43)� � 정답:� ③� The� arrangement� of� elements� in� a�

structured� order

� 근거�문장:� "Syntax� is� crucial� to� language."

� 설명:

밑줄� 친� 표현은� 구성� 요소들을� 논리적으로� 배열하는� 규칙

을�의미함.

� 오답�분석

①�무작위적인�소리� 배열이�아님.

②�관련�없는� 소리를�사용하는�것이� 아님.

④�논리적인�순서�없이� 감정�표현만�하는�것이�아님.

⑤�외부�자극에�대한�본능적�반응과�관련�없음.

44)� � 정답:� ①� A� constant� state� of� anxiety� without�

relief

� 근거� 문장:� "An� anxious� individual...� abruptly� shifting�

from� one� to� another� without� checking� whether�

anything� has� worked."

� 설명:

밑줄� 친� 표현은� 불안으로� 인한� 지속적인� 긴장� 상태를� 의

미함.

45)� � 정답:� ②� Babies� analyze� their� environment�

using� probability� and� logic

� 근거� 문장:� "They� form� hypotheses,� assess�
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probabilities� based� on� their� knowledge,� integrate�

new� evidence� from� the� environment,� and�

perform� tests."

� 설명:

밑줄� 친� 표현은� 아기들이� 주변� 환경을� 확률과� 논리를� 통

해�분석하는�능력을�지녔음을�의미함.

46)� � 정답:� ②� A� gradual� loss� of� sensitivity� to� a�

constant� smell

� 근거� 문장:� "You� may� no� longer� be� able� to� smell� it�

even� with� deliberate� effort,� a� physical� process�

known� as� olfactory� adaptation."

� 설명:

밑줄� 친� 표현은� 지속적으로� 노출된� 냄새에� 대한� 민감도가�

서서히�감소하는�현상을�의미함.

47)� � 정답:� ①� Differences� alone� are� insufficient� for�

progress

� 근거� 문장:� "Variation� is� only� the� first� step...� the�

results� of� these� judgments� will� be� pitted� against�

one� another,� and� the� best� will� triumph."

� 설명:

밑줄� 친� 표현은� 단순한� 다양성은� 시작일� 뿐이며,� 경쟁과�

선별�과정을�통해�발전이�이루어짐을�의미함.

48)� � 정답:� ③� Thoughtful� failures� that� offer� valuable�

lessons

� 근거� 문장:� "The� classic� intelligent� failure� is�

hypothesis� driven."

� 설명:

밑줄� 친� 표현은� 신중한� 시도와� 준비� 속에서� 발생한� 실패

로,� 학습과�발전에�기여하는�경험을�의미함.

49)�✔ 정답:� ⑤� mitigation� →� attribution

� 정답�선택지�분석

�근거�문장:

"We� need� attribution� in� addition� to� detection."

� 정답인�이유:

문맥상� '기후� 변화가� 발생하고� 있음(detection)'을� 입증하

는� 것뿐만� 아니라,� '그� 원인이� 인간� 활동� 때문

(attribution)'임을� 입증하는� 것이� 중요하다.� 그러나�

'mitigation(완화)'은� 기후� 변화� 해결책을� 의미하므로�

문맥상�적절하지�않다.

50)�✔ 정답:� ⑤� forgotten� →� learned

� 정답�선택지�분석

�근거�문장:

"The� rules� exist� only� in� the� minds� of� the� individual�

speakers� as� learned� dispositions."

� 정답인�이유:

문장에서� 언급된� 문법� 규칙들은� '배운(learned)'� 습관으로�

축적된다.� 그러나� 'forgotten(잊혀진)'을� 사용하면� 문

맥과�반대되어�적절하지�않다.

51)�✔ 정답:� ⑤� static� →� dynamic

� 정답�선택지�분석

� 근거�문장:

"Environment� is,� then,� a� field� that� includes� the�

human� participant."

� 정답인�이유:

문장에서� 환경은� 역동적인� 상호작용을� 포함하는� 개념으로�

설명되고� 있다.� 그러나� 'static(정적인)'을� 사용하면� 문

맥과�반대되는�의미가�되어�적절하지�않다.

52)�✔ 정답:� ⑤� credible� →� suspect

� 정답�선택지�분석

� 근거�문장:

"The� accessibility� of� journalistic� language...� renders�

journalists'� claims� to� specialized� expertise�

potentially� suspect."

� 정답인�이유:

문장에서� 저널리즘이� 전문성을� 주장하는� 것이� 의심받을�

수� 있다고� 설명하고� 있다.� 그러나� 'credible(믿을� 만

한)'을�사용하면�정반대�의미가�되어� 문맥상�어색하다.

53)�✔ 정답:� ⑤� inevitable� →� elusive

� 정답�선택지�분석

� 근거�문장:

"It� is� rare� that� the� result� is� smooth,� flawless�

management."

� 정답인�이유:

문장에서� 위기� 관리가� 원활하게� 이루어지는� 것이� 드물다

는� 점을� 강조하고� 있다.� 그러나� 'inevitable(불가피한)'

을� 사용하면� 문맥과� 맞지� 않으므로,� 'elusive(달성하기�

어려운)'로� 수정해야�한다.

54)�✔ 정답:� ⑤� irreversible� →� reversible

� 정답�선택지�분석

� 근거�문장:

"However,� some� researchers� argue� that� with� the�

right� training� and� encouragement,� the� decline� in�

wayfinding� ability� is� reversible."

� 정답인�이유:

문장에서� 일부� 연구자들은� 방향� 감각이� 훈련을� 통해� 회복

될�수� 있다고�주장한다.� 그러나� 'irreversible(되돌릴�수�

없는)'을� 사용하면� 정반대� 의미가� 되어� 문맥상� 적절하

지�않다.

55)�✔ 정답:� ⑤� rudimentary� →� sophisticated

� 정답�선택지�분석

� 근거�문장:

"The� implications� of� this� discovery� are� profound,�

shedding� light� on� the� evolution� of�

communication� in� animals."

� 정답인�이유:

문장에서� 새들의� 의사소통� 능력이� 복잡하며� 인간의� 언어

와� 유사하다는� 점을� 강조하고� 있다.� 그러나�

'rudimentary(초보적인)'을� 사용하면� 반대� 의미가�되어�

문맥상�어색하다.

56)�✔ 정답:� ④� calm� →� paralysis

� 정답�선택지�분석

� 근거�문장:
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"Excessive� anxiety� can� lead� to� a� state� of� paralysis,�

which� prevents� effective� decision-making� and�

problem-solving."

� 정답인�이유:

문장에서� 과도한� 불안이� 효과적인� 의사결정을� 방해한다고�

설명하고� 있다.� 그러나� 'calm(차분함)'을� 사용하면� 반

대�의미가�되어�문맥상�적절하지�않다.

57)�✔ 정답:� ⑤� validated� →� refuted

� 정답�선택지�분석

�근거�문장:

"These� findings� challenge� the� assumption� that� early�

learning� is� entirely� passive."

� 정답인�이유:

연구� 결과는� 영아들이� 본능만으로� 행동하는� 것이� 아니라�

학습을�통해� 행동을�조절한다는�점을� 보여준다.� 그러나�

'validated(입증된)'을� 사용하면�기존� 가설이�맞다는�뜻

이�되어�문맥과�맞지�않는다.

58)�✔ 정답:� ⑤� accepted� →� challenged

� 정답�선택지�분석

�근거�문장:

"Smells� signal� transitions� through� space� as� well� as�

changes� of� state,� and� are� thus� used� to� mark�

socially� important� moments� of� change."

� 정답인�이유:

문장에서� 냄새가� 문화적으로� 중요한� 역할을� 한다고� 설명

하는데,� 'accepted(받아들여지는)'을� 사용하면� 문맥과�

맞지� 않는다.� 대신� 'challenged(의문이� 제기되는)'가�

적절하다.

59)�✔ 정답:� ⑤� encouraged� →� discouraged

� 정답�선택지�분석

�근거�문장:

"Variability� in� ideas� and� judgments� is� again�

welcome."

� 정답인�이유:

문장에서� 다양한� 관점이� 중요하다고� 설명하는데,�

'encouraged(장려되는)'을� 사용하면� 문맥과� 맞지� 않는

다.� 대신� 'discouraged(권장되지�않는)'가�적절하다.

60)�✔ 정답:� ④� indispensable� →� optional

� 정답�선택지�분석

�근거�문장:

"Companies� that� carefully� research� their� markets�

and� develop� well-informed� strategies� tend� to�

mitigate� risk� and� increase� their� chances� of�

success."

� 정답인�이유:

문장에서� 철저한� 준비가� 성공� 가능성을� 높인다고� 설명하

는데,� 'indispensable(필수적인)'을� 사용하면� 맞지만,�

'optional(선택적인)'을� 사용하면�문맥과�맞지� 않는다.

61)� � 정답:� ②� attribution

� 근거�문장:

"We� need� to� prove,� beyond� a� reasonable� doubt,�

that� climate� is� changing� and� that� human� use� of�

fossil� fuels,� not� something� else,� is� responsible� for�

the� climate� change� we� are� observing.� We� need�

attribution� in� addition� to� detection."

� 정답인�이유:

"Detection"은� 기후� 변화가� 존재한다는� 것을� 인식하는� 것

이고,� "attribution"은� 그� 원인을� 특정하는� 과정이다.�

문맥상�단순한� 변화의�감지가� 아닌,� 인간� 활동(특히� 화

석� 연료� 사용)이� 기후� 변화의� 원인임을� 입증해야� 한다

는�점에서� "attribution"이�적절하다.

� 오답�분석:

①� adaptation� →� 기후� 변화에� 적응하는� 것과� 관련되며,�

원인�규명이�아닌�대응�방법이므로�부적절하다.

③� mitigation� →� 기후� 변화의� 원인을� 줄이거나� 완화하는�

것을� 의미하나,� 여기서는�원인� 규명이�핵심이므로�적절

하지�않다.

④� confirmation� →� 이미� 감지된� 기후� 변화에� 대한� 확신

을� 의미할� 수� 있지만,� 원인� 분석의� 개념을� 담고� 있지�

않아�부적절하다.

⑤� exploration� →� 탐구나� 연구를� 의미하지만,� 특정� 원인

을�규명하는�것과는�거리가�있다.

62)� � 정답:� ②� acquired� habits

� 근거�문장:

"Speaking� grammatically� is� a� matter� of� unreflective�

habit� rather� than� conscious� rule� following."

� 정답인�이유:

문장에서� "speaking� grammatically"는� 무의식적인� 습관

(unreflective� habit)으로� 이루어진다고� 언급되었으며,�

이는� 뇌의� 신경� 생리학적� 기억� 흔적

(neurophysiological� memory� traces)� 속에서� 형성된�

습득된�습관(acquired� habits)과� 연결된다.

� 오답�분석:

①� cognitive� rules� →� 인지적�규칙은� 언어� 사용의�본능적�

패턴을�의미할�수�있으나,� 해당� 지문에서는�습관적으로�

내재된�문법을�강조하고�있어�적절하지�않다.

③� linguistic� codes� →� 언어학적� 코드라는� 개념은� 문법�

체계와� 관련되나,� 개인의� 내면에� 자리� 잡은� 습관적� 언

어� 사용을�설명하기엔�적절하지�않다.

④� biological� functions� →� 생물학적� 기능은� 신경� 생리학

적� 과정과� 관련될� 수� 있지만,� 문맥상� 문법� 규칙을� 형

성하는�요소로�보기�어렵다.

⑤� written� norms� →� 문서화된� 규범은� 문법책에� 기록될�

수는� 있지만,� 개인이�무의식적으로�따르는�규칙과는�다

르다.

63)� � 정답:� ③� a� dynamic� field� of� interconnected�

forces

� 근거�문장:

"Environment� is,� then,� a� field� that� includes� the�

human� participant."

� 정답인�이유:

문맥상� 환경(environment)은� 단순한� 독립적인� 개체들의�

집합이� 아니라� 인간과� 상호� 작용하는� 힘의� 장(field� of�

forces)으로� 설명되고� 있다.� 이는� ‘dynamic’(역동적인)�

특성을�지닌다고�볼�수�있다.

� 오답�분석:

①� a� neutral� setting� for� human� interaction� →� 환경이�

인간과의� 상호작용에� 영향을� 미친다고� 했으므로� ‘중립
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적인�공간’이라는�표현은�부적절하다.

②� a� static� background� for� social� events� →� 환경이�역

동적인� 힘의� 관계로� 설명되므로,� 정적인� 배경(static�

background)이라는�설명과�맞지� 않는다.

④� a� collection� of� independent� physical� entities� →�

환경이� 독립적인� 개체들의� 배열이� 아니라� 힘의� 장

(field� of� forces)이라는�점에서�틀렸다.

⑤� an� artificial� construction� of� human� perception� →�

환경이� 인간의� 인지적� 구성물이� 아니라� 실재하는� 힘의�

장으로�설명되므로�적절하지�않다.

64)� � 정답:� ②� questionable

� 근거�문장:

"The� accessibility� of� journalistic� language� is� helpful�

for� informing� the� public,� but� it� also� renders�

journalists'� claims� to� specialized� expertise�

potentially� suspect."

� 정답인�이유:

저널리즘은� 전문� 지식(claims� to� specialized� expertise)

에� 대한� 강한� 주장을� 할� 수� 없는� 직업이며,� 이는�

‘potentially� suspect’(의심받을� 가능성이� 있음)하다고�

언급됨.� ‘questionable’(의심스러운)이라는� 표현이� 가장�

적절하다.

� 오답�분석:

①� unnecessary� →� 전문성이� 불필요하다는� 내용이� 아니

라,� 인정받기�어렵다는�내용이므로�부적절하다.

③� authoritative� →� 저널리즘이� 전문성을� 강하게� 주장할�

수� 없다는� 점에서� ‘권위� 있는(authoritative)’과� 반대된

다.

④� indisputable� →� 논쟁의� 여지가� 없다는� 표현은� 반대�

의미이므로�틀렸다.

⑤� irrefutable� →� 반박할� 수� 없다는� 의미도� 문맥과� 맞지�

않다.

65)� � 정답:� ②� flawless

� 근거�문장:

"It� is� rare� that� the� result� is� smooth,� flawless�

management."

� 정답인�이유:

여러� 기관과� 조직이� 복잡하게� 얽혀� 있어� 관리가� 원활하게�

이루어지기� 어렵다는� 내용이므로,� "완벽한(flawless)"�

운영이�드물다는�점을�강조하고�있다.

� 오답�분석:

①� predictable� →� 예측� 가능성보다는� 관리의� 완벽성

(flaws)이� 문제이므로�부적절함.

③� catastrophic� →� 운영이�완벽하지�않다는�것이지,� 항상�

재앙적인�것은�아니므로�틀림.

④� instantaneous� →� 즉각적� 처리보다는� 완벽한� 운영이�

어려운�점을�강조하고�있음.

⑤� redundant� →� 불필요한(redundant)� 요소가� 아니라�

복잡성�자체가�문제이므로�부적절함.

66)� � 정답:� ②� the� straight� and� narrow

� 근거�문장:

"It� seems� that� we� all� start� off� roaming� free,� but�

most� of� us� end� up� on� the� straight� and� narrow."

� 정답인�이유:

"Straight� and� narrow"는� 제한적이고� 정해진� 방식의� 삶

을� 의미하며,� 어린� 시절에는�자유롭게�탐험하지만�나이

가� 들면서� 익숙한� 경로를� 따르는� 경향이� 있다는� 논지

를�반영함.

� 오답�분석:

①� the� wrong� path� →� 잘못된� 길을� 간다는� 내용이� 아니

므로�부적절함.

③� unpredictable� journeys� →� 오히려� 예측� 가능한� 경로

로�바뀌는�점이� 강조됨.

④� mental� detours� →� 우회하는� 것이� 아니라� 정해진� 경

로를�따른다는�점에서�맞지�않음.

⑤� a� constant� exploration� →� 탐험이�지속되지�않는다는�

내용과�반대됨.

67)� � 정답:� ②� phonological� syntax

� 근거�문장:

"The� Japanese� great� tit,� it� turns� out,� is� the� first�

animal� apart� from� humans� who� can� use�

phonological� syntax."

� 정답인�이유:

일본� 박새(Japanese� great� tit)가� 인간처럼� 특정� 순서로�

소리를� 배열하여� 의미를� 전달하는� ‘phonological�

syntax’를� 사용한다고�설명하고�있다.

� 오답�분석:

①� symbolic� gestures� →� 몸짓� 언어가� 아닌� 소리의� 배열

과�관련된�내용이므로�틀림.

③� complex� rhythms� →� 리듬이� 아닌� 문법적� 배열이� 핵

심이므로�적절하지�않음.

④� coordinated� signals� →� 단순한� 신호� 조정이� 아닌� 문

법적�구조를�의미하므로�맞지�않음.

⑤� abstract� reasoning� →� 논리적� 추론이� 아닌� 음운론적�

구성이므로�부적절함.

68)� � 정답:� ②� more� responsive� to� threats

� 근거�문장:

"In� that� framework,� the� brain� chemicals� and,�

ultimately,� the� genes� relevant� to� anxiety� don't�

make� you� anxious.� They� make� you� more�

responsive� to� anxiety-provoking� situations."

� 정답인�이유:

불안� 관련� 유전자가� 불안을� 직접� 유발하는� 것이� 아니라,�

불안� 유발� 상황에� 더� 민감하게� 반응하도록� 만든다는�

점을�강조하고�있음.

� 오답�분석:

①� less� sensitive� to� danger� →� 오히려� 더� 민감해지는�

것이므로�반대�의미.

③� indifferent� to� stress� →� 불안은� 스트레스에� 무관심한�

것이�아니라�과민하게�반응하는�상태이므로�틀림.

④� completely� immune� to� anxiety� →� 불안에� 면역이�

되는�것이�아니라�더�반응하게�됨.

⑤� unaware� of� emotional� changes� →� 감정� 변화를� 인

식하지�못하는�것이� 아니라,� 오히려�과도하게�반응하는�

것이므로�부적절함.

69)� � 정답:� ②� estimate� probabilities
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� 근거�문장:

"Even� from� a� very� young� age,� they� actively� estimate�

probabilities� based� on� patterns� that� they� observe�

and� learn."

� 정답인�이유:

유아들이�환경을�단순히�반응하는�것이� 아니라,� 확률을�추

정하여�행동한다는�점을�강조하고�있음.

� 오답�분석:

①� manipulate� their� surroundings� →� 환경을� 조작하는�

것이� 아니라,� 환경에서� 패턴을� 학습하는� 것이므로� 틀

림.

③� rely� on� instinctive� choices� →� 본능보다는� 통계적� 패

턴을�학습하고�적용하는�것이� 강조됨.

④� ignore� statistical� patterns� →� 오히려� 통계적� 패턴을�

활용하는�것이므로�반대�의미.

⑤� react� emotionally� to� stimuli� →� 감정적� 반응이� 아니

라�확률�기반� 학습이�핵심임.

70)� � 정답:� ③� social� changes

� 근거�문장:

"Smells� signal� transitions� through� space� as� well� as�

changes� of� state,� and� are� thus� used� to� mark�

socially� important� moments� of� change."

� 정답인�이유:

냄새가�단순한�공간적�변화를�넘어,� 장례식과�같은� 사회적�

전환을�표시하는�역할을�한다는�논지를�강조하고�있음.

� 오답�분석:

①� sensory� limitations� →� 후각의� 제한보다는� 사회적� 변

화와�관련됨.

②� personal� experiences� →� 개인적� 경험보다는� 집단적,�

사회적�맥락에서�냄새의�역할이�강조됨.

④� political� shifts� →� 정치적변화가�아니라�사회적�변화와�

연결됨.

⑤� chemical� reactions� →� 화학적� 변화가� 아니라� 문화적,�

사회적�의미가�중요함.

71)� � 정답:� ④� selection

� 근거�문장:

"In� a� market� as� in� nature,� selection� cannot� work�

without� variation."

� 정답인�이유:

선택(selection)은� 변이가� 있어야만� 가능하며,� 이는� 진화�

이론과� 경쟁� 시장에서의� 개념을� 연결하여� 설명하고� 있

음.

� 오답�분석:

①� competition� →� 경쟁이� 아닌,� 변화� 속에서� 가장� 나은�

선택이�이루어지는�과정이�강조됨.

②� prediction� →� 예측이� 아니라,� 다양한� 아이디어� 중� 최

적의�것이� 선택되는�과정이�핵심.

③� efficiency� →� 효율성이� 아닌,� 변이를� 기반으로� 한� 선

택이�주제임.

⑤� regulation� →� 규제가� 아니라� 시장과� 자연에서의� 선택�

메커니즘을�설명하고�있음.

72)� � 정답:� ②� planning

� 근거�문장:

"Tom� attributes� this� common� failure,� in� part,� to�

'the� 'fail� fast'� mantra,'� which� overemphasizes�

action,� shortchanging� preparation."

� 정답인�이유:

‘fail� fast’� 접근� 방식이� ‘action’을� 강조하면서도�

‘preparation’을� 간과한다고� 언급됨.� 여기서�

‘preparation’과� 동의어로� 가장� 적절한� 단어는�

‘planning’(계획)임.

� 오답�분석:

①� reflection� →� 반성이�아니라�사전�준비� 부족이�문제.

③� execution� →� 실행이� 아니라� 실행� 이전의� 계획� 단계�

부족이�핵심.

④� adaptation� →� 실패� 후� 적응이� 아니라� 초기� 계획� 부

실이�문제.

⑤� perseverance� →� 끈기가� 아니라� 전략적� 계획� 부재가�

강조됨.

73)� 정답:� ①� (A)� -� (C)� -� (B)

정답�선택지�분석

A�→� C

A에서는� "Humans� are� causing� climate� change� by�

burning� fossil� fuels"이라는� 명제를� 소개하며,� 이에�

대한� 논의를� 시작함.� 이어서� C에서� "if� we're� going�

to� argue� for� a� massive� change"라고� 하며� A의� 주

장을�더욱�확장하여�논의함.

C� →� B

C에서� "it� seems� reasonable� to� ask� that� we� move�

beyond� detection"이라며� 단순한� 감지가� 아니라� 인과�

관계를� 증명해야� 한다고� 강조함.� B에서는� 이를� 구체적

으로� 설명하며� "we� need� attribution� in� addition� to�

detection"이라고�언급하여�논리가�이어짐.

핵심�요약

A:� 기후� 변화의� 원인을� 화석� 연료� 사용으로� 단정� 짓는� 것

의� 중요성.

C:� 기후�변화�대응을�위해�단순한�감지를�넘어서야�함.

B:� 기후�변화의�인과�관계를�증명하는�것이�중요함.

74)� 정답:� ④� (C)� -� (A)� -� (B)

정답�선택지�분석

C�→� A

C에서는� 문법� 규칙이� 직관적으로� 적용되는� 것이� 아니라�

무의식적으로� 사용된다는� 점을� 강조함.� 이어서� A에서�

"The� grammatical� rules� of� a� language,� then,� do�

not� exist� apart� from� the� minds� of� the� individual�

speakers."라고�하여�이를� 구체적으로�설명함.

A� →� B

A에서� 문법� 규칙이� 개인의� 정신� 속에� 존재한다고� 언급한�

후,� B에서� "The� rules� that� are� followed...� exist�

only� in� the� minds� of� the� individual� speakers"라고�

하여�이를�더욱� 구체화함.

핵심�요약

C:� 문법�규칙은�사람들이�의식적으로�따르는�것이�아님.

A:� 문법� 규칙은�개인의�정신�속에서�작용함.

B:� 문법�규칙은�신경생리학적�기억� 흔적에�의해� 유지됨.
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75)� 정답:� ②� (B)� -� (A)� -� (C)

정답� 선택지�분석

B� →� A

B에서� "These� vectors� invite� particular� behaviors"라고�

하며� Lewin의� 개념을� 설명함.� 이어서� A에서는� "More�

recently,� the� perceptual� psychologist� J.� J.� Gibson�

studied..."라고� 하며� Lewin의� 연구를� Gibson의� 연구

와�연결함.

A� →� C

A에서� Gibson이� 제시한�개념을�소개한� 후,� C에서는�환경

을� 독립된� 개체들의� 집합이� 아니라� 역학� 관계� 속의� 장

(field)으로�보는�관점을�설명하며�논의를�마무리함.

핵심� 요약

B:� 환경의�요소들이�인간�행동을�유도함.

A:� Gibson이� 환경� 속에서� 인간� 행동을� 유도하는� 개념

(affordance)을�연구함.

C:� 환경은� 독립된� 개체들의� 배열이� 아니라� 상호� 작용하는�

힘의�장임.

76)� 정답:� ③� (B)� -� (C)� -� (A)

정답� 선택지�분석

B� →� C

B에서는� 저널리즘이� 다른� 전문직과� 달리� 배타적� 집단� 형

성을� 어렵게� 만든다는� 점을� 설명함.� C에서는� 이� 문제

를� 더� 구체적으로� 다루며,� 법률이나� 의학과� 달리� 저널

리즘이� 전문적� 지식에� 대한� 독점권을� 주장할� 수� 없음

을�설명함.

C� →� A

C에서� 저널리즘이� 전문성을� 확립하기� 어렵다는� 점을� 언급

한� 후,� A에서는� 저널리즘의� 명료한� 언어가� 오히려� 전

문성을� 의심받게� 만드는� 요소가� 될� 수� 있음을� 강조하

며�논리를�완성함.

핵심� 요약

B:� 저널리즘은� 다른� 전문직과� 다르게� 배타성을� 확보하기�

어려움.

C:� 저널리즘은�전문적�지식을�독점할�수�없음.

A:� 저널리즘의� 명료한� 언어가� 오히려� 전문성을� 약화시킬�

수�있음.

77)� 정답:� ③� (B)� -� (C)� -� (A)

정답� 선택지�분석

B� →� C

B에서는� 절차� 매뉴얼의� 문제점을� 지적함.� 이어서� C에서�

자동화� 시스템이� 이를� 돕지만,� 항상� 적절한� 해결책을�

제공하지는�못한다고�설명하며�논리를�확장함.

C� →� A

C에서� 자동화� 시스템의� 한계를� 설명한� 후,� A에서� 다양한�

조직이�개입하며�조율이�필요하다는�점을�강조함.

핵심� 요약

B:� 절차�매뉴얼은�실용성이�떨어질�수�있음.

C:� 자동화�시스템이�이를�보완하지만�완벽하지�않음.

A:� 여러�조직의�협력이�필요함.

78)� 정답:� ③� (B)� -� (C)� -� (A)

정답�선택지�분석

B�→� C

B에서는� 나이,� 경험,� 부모의� 태도� 등이� 공간적� 능력에� 영

향을� 준다고� 설명함.� 이어서� C에서� 공간적� 탐색� 전략

이�연령에�따라� 변화함을�연구�사례를�통해�설명함.

C� →� A

C에서�연구� 결과를�소개한�후,� A에서� 공간적�탐색�전략이�

연령에� 따라� 어떻게� 변화하는지를� 구체적으로� 설명하

며�논리를�완성함.

핵심�요약

B:� 공간적�능력은�연령과�환경적�요인에�영향을�받음.

C:� 공간적�전략이�연령에�따라�변화함.

A:� 탐색� 전략이�점차� 경로�중심으로�바뀜.

79)� 정답:� ④� (C)� -� (A)� -� (B)

정답�선택지�분석

C�→� A

C에서� 조류의� 노래가� 다양한� 기능을� 수행한다고� 설명하

며,� 그중� 하나로� 일본박새(Japanese� great� tit)의� 연구

를� 소개함.� 이어서� A에서는� 구체적인� 예를� 들며� 인간�

언어의�문법� 구조와�유사한�점을�강조함.

A� →� B

A에서� 일본박새가� 문법� 구조를� 따르는� 노래를� 부른다는�

연구� 결과를� 설명한� 후,� B에서는� 이들이� 올바른� 순서

로� 노래를� 불러야� 효과가� 있다는� 점을� 강조하며� 논리

를�마무리함.

핵심�요약

C:� 조류의�노래는�다양한�기능을�수행함.

A:� 일본박새는�인간�언어처럼�문법�구조를�활용함.

B:� 일본박새는� 올바른� 순서로� 노래를� 불러야� 의미가� 전달

됨.

80)� 정답:� ⑤� (C)� -� (B)� -� (A)

정답�선택지�분석

C�→� B

C에서� 위협이� 사라지면� 긴장이� 풀리는� 것이� 일반적이라고�

설명하지만,� 불안한� 사람들은� 계속해서� 경계를� 유지한

다고� 언급함.� 이어서� B에서는� 불안이� 환경과의� 상호작

용� 속에서� 작용하며,� 단순히� 뇌� 화학물질� 때문이� 아니

라는�점을�강조함.

B� →� A

B에서� 불안의� 지속성을� 설명한� 후,� A에서는� 불안이� 개인

의� 반응을� 변화시키며� 특정� 상황에� 과민하게� 반응하도

록�만든다는�점을�덧붙임.

핵심�요약

C:� 일반적으로� 위협이� 사라지면� 긴장이� 풀리지만,� 불안한�

사람들은�그렇지�않음.

B:� 불안은�환경과의�상호작용�속에서�지속됨.

A:� 불안은�상황에�대한�과민�반응을�유도함.

81)� 정답:� ④� (C)� -� (A)� -� (B)

정답�선택지�분석
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C� →� A

C에서� 유아들이� 확률을� 활용하여� 예측을� 한다는� 실험을�

소개함.� 이어서� A에서는� 구체적인� 실험� 과정을� 설명하

며,� 유아들이�선호하는�색상의�확률을�고려하여�선택을�

했다는�점을�강조함.

A� →� B

A에서�실험� 결과를�설명한� 후,� B에서는�이를� 통해� 유아들

이� 단순히� 반응하는� 것이� 아니라� 적극적으로� 확률을�

계산하고�학습한다는�점을� 정리함.

핵심� 요약

C:� 유아들은�확률을�활용하여�예측함.

A:� 실험�결과,� 유아들이�확률을�고려하여�선택함.

B:� 유아들은�환경을�능동적으로�학습함.

82)� 정답:� ②� (B)� -� (A)� -� (C)

정답� 선택지�분석

B� →� A

B에서� 향이� 사회적� 전환과� 연결되는� 이유를� 설명하며,� 사

람들이� 공간에� 들어갈� 때� 향을� 더� 강하게� 인식한다고�

언급함.� 이어서� A에서는� 특정한� 냄새가� 시간이� 지나면�

익숙해져�더�이상�느껴지지�않는� 현상을�설명함.

A� →� C

A에서� 후각� 적응이� 일어나� 시간이� 지나면� 냄새를� 감지하

지� 못한다고� 설명한� 후,� C에서는� 강한� 냄새가� 지속적

으로� 인지되는� 예외적인� 경우를� 설명하며� 논리를� 확장

함.

핵심� 요약

B:� 향은�사회적�전환과�연결됨.

A:� 후각� 적응으로� 인해� 시간이� 지나면� 냄새를� 인식하지�

못함.

C:� 매우�강한� 냄새만이�지속적으로�인지됨.

83)� 정답:� ②� (B)� -� (A)� -� (C)

정답� 선택지�분석

B� →� A

B에서� 기업들이� 경쟁� 속에서� 다양한� 접근� 방식을� 시도하

는� 것이� 바람직하다고� 설명함.� 이어서� A에서는� 연구팀

들도� 과학적� 문제를� 해결할� 때� 다양한� 관점을� 유지하

는�것이�중요하다고�강조함.

A� →� C

A에서� 연구팀들이� 서로� 다른� 접근� 방식을� 활용한다고� 설

명한� 후,� C에서는� 이러한� 다양성이� 경쟁을� 통해� 평가

되고� 최적의� 해결책이� 선택된다는� 점을� 강조하며� 논의

를�마무리함.

핵심� 요약

B:� 기업들은� 혁신을� 위해� 다양한� 접근� 방식을� 시도해야�

함.

A:� 연구팀들도�다양한�관점을�유지하는�것이� 중요함.

C:� 다양한�접근�방식이�경쟁을�통해� 최적화됨.

84)� 정답:� ②� (B)� -� (A)� -� (C)

정답� 선택지�분석

B�→� A

B에서� '지능적�실패'를� 방지하기�위해� 철저한�사전� 조사가�

필요하다고� 강조함.� 이어서� A에서는� 이를� 지키지� 않은�

스타트업이�실패한�사례를�소개하며�논리를�구체화함.

A� →� C

A에서� '빠른� 실패'를� 강조한� 스타트업이� 사전� 조사를� 소

홀히� 하여� 실패했다고� 설명한� 후,� C에서는� 사전� 조사

를� 했다면� 반드시� 그� 결과를� 따라야� 한다고� 강조하며�

논리를�마무리함.

핵심�요약

B:� 지능적�실패를�방지하려면�사전� 조사가�필수적임.

A:� 사전� 조사를�소홀히�한�스타트업이�실패한�사례.

C:� 사전�조사를�했다면�그�결과를�반드시�따라야�함.

85)� (정답:� ①)

앞�문장� (①�앞�문장)

"Let's� start� with� the� statement� 'Humans� are� causing�

climate� change� by� burning� fossil� fuels.'"

→� 화석� 연료� 사용이� 기후� 변화의� 원인이라는� 주장을� 제

시하며�논의를�시작함.

삽입�문장

"It� is� the� basis� upon� which� people� all� over� the�

world,� including� me,� are� calling� for� the� rapid�

end� to� fossil� fuel� use� and� the� transition� to�

carbon-emission-free� energy� sources."

→� 앞� 문장의� 주장에� 대한� 반응으로,� 이를� 근거로� 사람들

이�화석�연료�사용� 중단을�촉구하고�있음을�설명함.

뒷�문장� (①�뒤�문장)

"It's� a� pretty� bold� statement,� and� it� is� very� different�

from� saying� that� climate� is� changing� —� what�

scientists� call� 'detection.'”

→� 앞에서� 제시된� 주장(화석� 연료가� 기후� 변화의� 원인임)

이� 상당히� 강한� 주장임을� 설명하며,� 단순한� 기후� 변화�

관찰과�차별됨을�강조함.

86)� (정답:� ②)

앞�문장� (②�앞�문장)

"It� is� independent� of� their� subjective� preferences�

and� they� must� follow� the� rules� if� they� are� to� be�

understood."

→� 문법이�개인의�주관과�상관없이�존재하며,� 이해되기�위

해서는�이를� 따라야�함.

삽입�문장

"However,� the� grammatical� rules� of� gender,�

agreement,� number,� subject� and� object,�

possessive,� and� so� on� are� not,� in� general,�

consciously� followed� and� applied� by� the�

individuals� who� speak� to� each� other."

→� 앞� 문장의� ‘must� follow� the� rules’에� 대해,� 사람들이�

실제로는� 무의식적으로� 문법� 규칙을� 따르고� 있음을� 설

명함.

뒷�문장� (②�뒤�문장)

"The� grammatical� rules� of� a� language,� then,� do� not�

exist� apart� from� the� minds� of� the� individual�

speakers."

→� 문법� 규칙이� 개인의� 사고� 속에서� 존재함을� 강조하며�

삽입�문장의�내용을�뒷받침함.
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87)� � (정답:� ②)

앞�문장� (②�앞�문장)

"Lewin� envisioned� a� social� world� comprised� of�

vectors� of� force� between� participants� and� the�

things� and� conditions� with� which� they� interact."

→� Lewin의� 연구가� 사회적� 환경에서� 힘의� 상호작용을� 강

조함.

삽입� 문장

"These� vectors� invite� particular� behaviors,� and� this�

led� Lewin� to� call� them� by� the� German� term�

Affördungsqualitäten,� translated� into� English� as�
'invitational� qualities.'"

→� 앞에서� 언급한� ‘vectors� of� force’가� 특정� 행동을� 유도

하는� 역할을� 하며,� 이를� Lewin이� 특정� 용어로� 명명했

음을�설명함.

뒷�문장� (②�뒤�문장)

"More� recently,� the� perceptual� psychologist� J.� J.�

Gibson� studied� the� ways� in� which� the� design�

and� appearance� of� environmental� configurations�

and� objects� encourage� particular� responses� in�

human� behavior."

→� Lewin의� 개념이� Gibson의� 연구와� 연결되며,� 환경이�

인간�행동을�유도하는�방식에�대한�논의로�이어짐.

88)� � (정답:� ①)

앞�문장� (①�앞�문장� 없음,� 문단� 시작�부분)

→� 문단의� 도입부에서� 저널리즘이� 직업(profession)으로�

분류되지만,� 그�정의를�완전히�충족하지�못하는�이유를�

논의함.

삽입� 문장

"Sociologist� Andrew� Abbott� has� characterized�

professions� as� 'somewhat� exclusive� groups� of�

individuals� applying� somewhat� abstract�

knowledge� to� particular� cases.'"

→� 직업의� 일반적인� 정의를� 제시하여� 저널리즘이� 그� 정의

에�부합하는지�논의하는�배경을�마련함.

뒷�문장� (①�뒤�문장)

"Although� it� is� commonly� categorized� as� a�

profession,� journalism� has� long� struggled� to�

comfortably� inhabit� this� definition."

→� 삽입� 문장에서� 제시한� 직업의� 정의가� 저널리즘에는� 완

전히�적용되지�않는� 문제를�설명함.

89)� (정답:� ②)

앞�문장� (②�앞�문장)

"There� are� often� many� different� organizations�

involved,� each� of� which� has� multiple� divisions,�

with� multiple� levels� of� authority,� and� often� many�

lengthy,� written� procedure� manuals."

→� 복잡한�시스템�관리의�어려움을�설명하며,� 절차� 매뉴얼

이�많음을�강조함.

삽입� 문장

"To� make� matters� worse,� the� manuals� are� seldom�

kept� up� to� date� and,� in� any� event,� cannot�

possibly� consider� every� combination� of� factors�

that� might� occur."

→� 앞에서� 언급한� 절차� 매뉴얼이� 효과적이지� 않을� 수� 있

음을�지적함.

뒷�문장� (②�뒤�문장)

"Modern� computer� systems� attempt� to� help� by�

automatically� diagnosing� the� situation� and� either�

responding� autonomously� or� offering� operators�

the� instructions� to� be� followed,� but� the�

diagnosis� or� recommended� course� of� actions� is�

not� always� appropriate."

→� 절차� 매뉴얼의� 한계를� 보완하려는� 컴퓨터� 시스템의� 역

할로�자연스럽게�연결됨.

90)� (정답:� ①)

앞�문장� (①�앞�문장)

"Age� is� not� the� only� determinant� of� spatial� skills."

→� 공간�능력이�나이만으로�결정되지�않음을�강조함.

삽입�문장

"By� this� point,� parental� attitudes,� freedom� of�

movement,� cognitive� differences� and� life�

experience� have� already� begun� to� leave� their�

imprint,� and� they� never� ease� off.� All� of� us� may�

be� explorers� when� we're� born,� but� few� of� us�

stay� that� way."

→� 나이� 이외의� 요인이� 공간� 능력에� 영향을� 미친다는� 점

을� 설명하며,� 이후의�논의로�자연스럽게�연결됨.

뒷�문장� (①�뒤�문장)

"We� end� up� suppressing� our� childish� natures,�

slipping� into� routines� and� following� the� routes�

we� always� take."

→� 삽입� 문장에서� 언급된� ‘few� of� us� stay� that� way’의�

개념을�이어받아,� 사람들이�점점� 모험심을�잃고�습관적

인�경로를�따르게�됨을�설명함.

91)� � (정답:� ⑥)

앞�문장� (⑥�앞�문장)

"The� Japanese� great� tit,� it� turns� out,� is� the� first�

animal� apart� from� humans� who� can� use�

phonological� syntax� —� the� ability� to� combine�

sounds� that� individually� have� no� meaning� into� a�

collective� sound� —� that� does."

→� 일본� 박새(Japanese� great� tit)가� 인간�외에�최초로�음

성� 문법을�사용한다는�발견을�설명함.

삽입�문장

"To� instruct� other� members� of� his� flock� to� scan� for�

predators,� or� to� attract� a� mate,� a� great� tit� must�

sing� several� distinct� notes� in� the� correct� order� —�

if� the� notes� are� sung� differently,� the� study�

found,� other� birds� will� not� react."

→� 앞� 문장에서� 언급된� 일본� 박새의� 언어적� 능력에� 대한�

구체적인�예시를�제시하여�설명을�보완함.

뒷�문장� (⑥�뒤�문장�없음,� 문단�끝�부분)

→� 삽입� 문장이�문단을�마무리하며,� 연구� 결과의�구체적인�

예시로�논의를�완성함.

92)� (정답:� ②)
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앞�문장� (②�앞�문장)

"And� once� a� signal� indicates� safety� —� the� lion� has�

been� evaded,� the� traffic� cop� buys� the�

explanation� and� doesn't� issue� a� ticket� —� the�

organism� can� relax."

→� 위협이� 사라지면� 일반적으로� 긴장이� 풀리는� 자연스러

운�반응을�설명함.

삽입� 문장

"But� this� is� not� what� occurs� in� an� anxious�

individual.� Instead,� there� is� a� frantic� skittering�

among� coping� responses� —� abruptly� shifting�

from� one� to� another� without� checking� whether�

anything� has� worked,� an� agitated� attempt� to�

cover� all� the� bases� and� attempt� a� variety� of�

responses� simultaneously."

→� 일반적인� 경우와� 불안� 장애� 환자의� 반응이� 다름을� 강

조함.

뒷�문장� (②�뒤�문장)

"Or� there� is� an� inability� to� detect� when� the� safety�

signal� occurs,� and� the� restless� vigilance� keeps�

going."

→� 불안한� 개인의� 특징이� 지속적인� 불안과� 긴장� 유지임을�

설명하며�삽입�문장의�내용을�뒷받침함.

93)� (정답:� ⑤)

앞�문장� (⑤�앞�문장)

"Each� lollipop� was� placed� into� a� separate,� opaque�

cup� with� only� the� stick� showing.� Infants� crawled�

to� the� cup� that� was� statistically� more� likely� to�

contain� their� preferred� color,� because� it� came�

from� a� jar� where� that� color� was� in� the�

majority."

→� 유아들이� 확률을� 기반으로� 행동한다는� 연구� 결과를� 설

명함.

삽입� 문장

"Experiments� like� this� demonstrate� that� infants� are�

not� merely� reactive� to� the� world."

→� 앞서� 설명된� 연구가� 유아들이� 단순히� 반응하는� 존재가�

아니라,� 능동적으로� 확률을� 계산하고� 행동하는� 존재임

을�보여준다고�설명함.

뒷�문장� (⑤�뒤�문장� 없음,� 문단� 끝� 부분)

→� 연구� 결과를� 요약하는� 역할을� 하며� 문단을� 효과적으로�

마무리함.

94)� � (정답:� ②)

앞�문장� (②�앞�문장)

"He� suggests� that� scent� is� felt� to� be� symbolically�

appropriate� for� moments� of� social� transition�

because� it� so� frequently� accompanies� and� marks�

other� types� of� physical� transition,� as� when�

cooking� smells� signal� the� transformation� of� raw�

ingredients� into� food."

→�냄새가�사회적�전환과�관련이�있음을�설명함.

삽입� 문장

"While� scents� tend� to� escape� spaces� and� spread�

out� of� human� control,� our� experience� of� them� is�

frequently� liminal,� as� we� notice� scents� far� more�

strongly� when� first� entering� their� range."

→� 앞� 문장에서� 언급된� 냄새의� 변화가� 물리적인� 경험에서

도� 나타나는� 방식(공간� 내에서� 퍼지고� 처음에� 강하게�

인식됨)을�설명함.

뒷�문장� (②�뒤�문장)

"You� smell� baking� bread� strongly� as� you� enter� a�

house,� but� after� a� few� minutes� inside,� you� may�

no� longer� be� able� to� smell� it� even� with�

deliberate� effort,� a� physical� process� known� as�

olfactory� adaptation� or� fatigue."

→� 삽입� 문장에서� 언급한� ‘liminal� experience’(처음에� 강

하게�인식되는�현상)의�예시를�제시함.

95)� (정답:� ②)

앞�문장� (②�앞�문장)

"When� several� companies� (or� several� teams� in� the�

same� organization)� compete� to� generate�

innovative� solutions� to� the� same� customer�

problem,� we� don't� want� them� to� focus� on� the�

same� approach."

→� 경쟁이� 있을� 때� 다양한� 접근법이� 필요하다는� 점을� 설

명함.

삽입�문장

"The� same� is� true� when� multiple� teams� of�

researchers� attack� a� scientific� problem,� such� as�

the� development� of� a� vaccine:� we� very� much�

want� them� to� look� at� it� from� different� angles."

→� 앞� 문장의� 논리를� 확장하여� 연구팀이� 다양한� 시각에서�

문제를�접근해야�함을� 설명함.

뒷�문장� (②�뒤�문장)

"Even� forecasters� sometimes� behave� like� competitive�

players."

→� 연구팀의� 다양한� 접근이� 필요하다는� 개념에서� 예측가

(forecasters)도� 마찬가지로� 경쟁적으로� 행동한다는� 논

의로�연결됨.

96)� � (정답:� ④)

앞�문장� (④�앞�문장)

"My� Harvard� colleague� Thomas� 'Tom'� Eisenmann,�

an� entrepreneurship� expert,� finds� that� many�

start-up� failures� are� caused� by� the� skipping� of�

basic� homework."

→� 많은� 스타트업� 실패가� 사전� 준비� 부족� 때문이라는� 연

구를�언급함.

삽입�문장

"For� example,� Triangulate,� an� online� dating� start-up,�

rushed� to� launch� fully� functional� offerings� that�

didn't� fit� any� market� needs.� Eager� to� launch�

fast,� founders� skipped� the� research� —� customer�

interviews� to� probe� for� unmet� needs."

→� Eisenmann의� 연구를� 구체적인� 사례(Triangulate� 스타

트업)로�뒷받침함.

뒷�문장� (④�뒤�문장)

"Paying� no� attentions� to� that� crucial� preparation,�

the� company� paid� the� price.� Tom� attributes� this�

common� failure,� in� part,� to� 'the� fail� fast�

mantra,'� which� overemphasizes� action,�

shortchanging� preparation."
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→� 삽입� 문장에서� 언급된� Triangulate의� 실패� 원인을� 분

석하며�논의를�확장함.

97)� ③� fossil� fuel� /� detection

98)� ②� social� /� unconscious

99)� ③� dynamic� /� reciprocal

100)� ①� specialized� /� broad

101)� ②� management� /� major

102)� ①� cognitive� /� explorative

103)� ②� practical� /� syntax

104)� � ②� erratic� /� recognition

105)� ③� statistical� /� predictions

106)� ①� transition� /� significant

107)� ②� variability� /� creative

108)� ②� Thorough� /� avoidable

109)� 정답:� ⑤� insisting� /� changing� /� observing

110)� 정답:� ①� speaking� /� formulated� /� followed

111)� 정답:� ①� translated� /� encourage� /� influenced

�
112)� 정답:� ①� establishing� /� establishing� /� informing

113)� 정답:� ①� maintaining� /� trying� /� diagnosing

114)� 정답:� ①� proficient� /� stay� /� suppressing

115)� 정답:� ①� employ� /� crucial� /� understand

116)� 정답:� ①� confronted� /� occurs� /� shifting

117)� 정답:� ①� learning� /� expressed� /� placed

118)� 정답:� ①� felt� /� spread� /� entering�

119)� 정답:� ①� expected� /� attack� /� behave

120)� 정답:� ①� run� /� caused� /� fit

121)�➡ It� is� upon� us� to� prove� that� the� downside� is�
greater� than� the� very� real� upside� fossil� fuels� has�

offered.

122)� ➡ Speaking� grammatically� is� a� matter� of�

unreflective� habit� rather� than� conscious� rule�

following.

123)� ➡ Environment� is� not� just� open� space� filled�
with� arrangements� of� independent� objects� but�

rather� a� field� of� forces� in� relationships� of�

attraction,� repulsion,� neutrality,� or� indifference.

124)� ➡ The� accessibility� of� journalistic� language� is�
helpful� for� informing� the� public,� but� it� also�

renders� journalists'� claims� to� specialized� expertise�

potentially� suspect.

125)� ➡ Modern� computer� systems� attempt� to� help�

by� diagnosing� the� situation� automatically� and�

either� responding� autonomously� or� offering�

operators� the� instructions� to� be� followed.

�
126)� ➡ It� seems� that� we� all� start� off� roaming� free,�

but� most� of� us� end� up� on� the� straight� and�

narrow.

�
127)� ➡ The� Japanese� great� tit,� it� turns� out,� is� the�

first� animal� apart� from� humans� who� can� use�

phonological� syntax� that� does.

128)� ➡ By� definition,� anxiety� makes� little� sense�
outside� the� context� of� what� the� environment� is�

doing� to� an� individual.

129)� ➡ Even� from� a� very� young� age,� they� actively�
estimate� probabilities� based� on� patterns� that�

they� observe� and� learn,� to� maximize� the�

outcomes� they� desire.

130)� ➡ Smells� signal� transitions� through� space� as�
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well� as� changes� of� state,� and� are� thus� used� to�

mark� socially� important� moments� of� change.

131)� ➡ In� a� market� as� in� nature,� selection� cannot�
work� without� variation.

132)� ➡ Paying� no� attention� to� that� crucial�

preparation,� the� company� paid� the� price.


